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Q1. In reference to long-term low greenhouse gas emission development strategies (LT-LEDS), 
consider the following statements. 

1. LT-LEDS are crucial frameworks that guide countries in aligning their developmental goals 
with the Paris Agreement's objective. 

2. India has yet not formulated and submitted LT-LEDS to UNFCCC. 

How many of the above statements is/are correct? 

a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 

Solution: a 

Explanation: 

The term was mentioned in the recent news in PIB: 

 

Parties agreed, under Article 4.19 of the Paris Agreement under the UNFCCC “to strive to formulate 
and communicate long-term low greenhouse gas emission development strategies (LT-LEDS). 

Long-Term Low Emission Development Strategies (LT-LEDS) are crucial frameworks that guide 
countries in aligning their developmental goals with the Paris Agreement's objective to limit global 
warming to well below 2°C. 

Till now, 73 countries have submitted. India has already submitted. 
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Q2. Consider the following statements. 

1. Dead zones occur when a body of water gets too many nutrients, such as phosphorus and 
nitrogen. 

2. Dead zones are often located near inhabited coastlines. 
3. The largest dead zone in the world lies in the Arabian Sea. 

How many of the above statements is/are correct? 

a) Only one 
b) Only two 
c) All three 
d) None 

Solution: c 

Explanation: 

News: 
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The largest dead zone in the world lies in the Arabian Sea, covering almost the entire 63,700-
square mile Gulf of Oman.  

The second largest sits in the Gulf of Mexico in the United States, averaging almost 6,000 square 
miles in size. 

Around the world, dead zones have developed in continental seas, such as the Baltic Sea, Kattegat, 
Black Sea, Gulf of Mexico, and East China Sea. 

Q3. How Pradhan Mantri Kisan Urja Suraksha Evam Utthaan Mahabhiyan (PM-KUSUM) scheme 
can benefit small and marginal farmers? 

1. A subsidy is provided to start a solar power plant and sell the electricity generated to the 
grid. 

2. To incentivize farmers to shift from electric/ diesel pumps to solar pumps. 

Select the correct code. 

a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 

Solution: b 

Explanation: 

The PM-KUSUM scheme is divided into three components: 
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1. Component A: Installation of mini-grids on barren lands. 
2. Component B: Replacement of diesel water pumps with off-grid solar water pumps. 
3. Component C: Replacement of electric water pumps with on-grid solar water pumps and 

installation of mini-grids for agriculture feeder solarization. 

Statement one is incorrect: Question is: “how it will help small farmers”? Small farmers ke paas itni 
zameen kha h ki wo plant start kr ske and there is no subsidy also. 

 

Second statement is correct. 

The State Government will give at-least subsidy of 30%; and the remaining at-most 40% will be 
provided by the farmer. 

 

NOTE: These all questions are very important for exams. Do register for any Prelims course to get 
PDFs of all these questions.  

Q4. Consider the following statements. 

1. As per the notification, a minimum 250 population is required to declare any region as a 
Elephant reserves. 

2. Presently, there are 56 notified Elephant Reserves (ERs) in the country. 
3. No elephant reserves currently in Maharashtra. 

How many of the above statements is/are correct? 

a) Only one 
b) Only two 
c) All three 
d) None 

Solution: a 

Explanation: 

News: 
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Ther is no such defined number to declare an elephant reserve. 

There are 33 notified Elephant Reserves (ERs) in the country spread over 14 states. 

Presently, no elephant reserves in Maharashtra. 

 

Q5. Consider the following statements regarding Liberalised Remittance Scheme (LRS). 

1. The scheme is only for current account transactions. 
2. The total outward remittances under LRS have been increasing consistently except COVID 

months. 
3. Remittances for education accounted for than half of the total remittances under LRS. 

How many of the above statements is/are correct? 

a) Only one 
b) Only two 
c) All three 
d) None 

Solution: a 

Explanation: 

First and third are incorrect. 

The Liberalised Remittance Scheme or LRS is a regulatory framework introduced by the Reserve 
Bank of India (RBI) that allows resident individuals to remit a certain amount of money in a financial 
year for various capital account and current account transactions. That is, under the scheme, 
resident Indians are allowed to transfer funds abroad up to a specified limit, without the prior 
approval of RBI.  

The scheme was first introduced in 2004 and has undergone several revisions since then, based on 
the prevailing macro and micro economic conditions.  
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The Scheme was originally introduced with a limit of USD 25,000. As of the last revision in 2015, the 
prescribed limit is USD 2,50,000 per financial year (April to March). This is roughly equivalent to a tad 
more than two crore Indian rupees.  

While there is no limit on the frequency of remittances under the scheme, the resident individual 
will not be eligible to make any further remittances under the scheme if the remittance limit is 
reached. 

According to RBI data, the total outward remittances under LRS have been increasing consistently. 
The growth is considerably higher in 2015-16 and 2016-17. In 2019-20, the total outward 
remittances under the scheme touched an all-time high of nearly 29,568 million USD. However, it 
dropped to less than half in 2020-21 due to the COVID-19 pandemic. Since then, the value has been 
improving.  

 

Remittances for travel alone accounted for more than 50% of the total remittances under LRS in 
2022-23 and 2023-24. 

Though education (studies abroad) and maintenance of close relatives accounted for more than 20% 
each of the total until 2021-22, their share has dropped significantly in 2022-23 and 2023-24. 
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Q6. Consider the following pairs. 

              Regions     location 
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a. Kamchatka 
peninsula                

 

Sea of Okhotsk and 
Bering Sea 

b. Dead Sea Israel and Syria 

 
 Which of the above locations is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: a 
Explanation:            

              Regions     location 
              Kamchatka 
peninsula                 
 

Sea of Okhotsk and 
Bering Sea 

                 Dead Sea Israel and Jordan 

 

               

              

Q7. Consider the following statements. 

1. Currently, India does not have law to punish for any loss or damage to public property by a 
person. 
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2. One of the provisions of DPSP talks about the ‘safeguarding the public property’. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: d 

Explanation: 

First is incorrect: 

 

 

Also, recently The Bhartiya Nyaya Sanhita, 2023 added: 
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Second statement sis also incorrect: 

 

Q8. Consider the following statements: 

1. The oath of the Speaker of Lok Sabha is provided in the Third Schedule to the 
Constitution. 

2. The oath of the President of India is provided in the third Schedule to the Constitution. 
Which of the statements given above is/are not correct? 

a 1 only 
b 2 only 
c Both 1 and 2 
d Neither 1 nor 2 

Solution: c 

Explanation: 

Not Correct, so be careful. 

The Lok Sabha Speaker is one of the Members of the Parliament. He/she takes the oath along with 
the other Members in the presence of the pro-tem Speaker. No separate oath of affirmation is 
administered to him. So, statement 1 is not correct. 
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Oath of President is not in third schedule.  

Article 60. 

 

Q9. In the context of Early Vedic Period, Brahmavadinis and Sadyodvahas refers to: 

a) Educated women groups 
b) Saints in early Vedic period 
c) Sacred texts to be read by women 
d) Sacred placed to read sacred texts 

Solution: a 

Explanation: 

Read: 

 

 

Q10. Consider the following pairs. 

            items          Contains plastics 
a. Chewing gum polyethylene and 

polyvinyl acetate 
b. cigarettes   cellulose acetate 

 

Which of the above pairs is/are correct? 

a) 1 only 
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b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 

Solution: c 

Explanation: 

Very important questions.  

Chewing gum is probably one of the most surprising products that contains plastic. Although 
traditional chewing gum bases were made of natural tree resins such as chicle, today, most gum 
bases contain petroleum-based plastics such as polyethylene and polyvinyl acetate which are 
FSSAI-approved (Food Safety and Standards Authority of India; sub-regulations 2.7.3 of the Food 
Safety and Standards (Food Products Standards & Food Additives) Regulations, 2011). 

Another unlikely place where plastics turn up are in cigarettes. The filters in cigarettes are made of 
a non-biodegradable plastic called cellulose acetate, that ends up in cigarette butts. In 2019, 
cigarette butts were one of the most littered plastic items along with plastic food wrappers, bottles, 
and bottle caps found on beaches and in the oceans. 

Q11. The Reserve Bank of India issued a Prompt Corrective Action (PCA) Framework for Primary 
(Urban) Co-operative Banks (UCBs). The provisions of the PCA Framework will be effective from April 
1, 2025. We will solve one question. 

The indicators based on which the PCA framework will be invoked are: 

1. Capital Adequacy Ratio (CAR) 
2. Net NPA (Non-Performing Assets) Ratio  
3. Incurred loss in the very first financial year. 

Select the correct code. 

a) 3 only 
b) 1 and 2 only 
c) 1 and 3 only 
d) 1, 2 and 3 

Solution: b 

Explanation: 

See below: 

 



QUIZ COMPILATION AUGUST 

 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 14 

 

The three parameters based on which the PCA framework will be invoked are: 

a) Capital Adequacy Ratio (CAR) 
b) NPA level 
c) Two consecutive years loss. Third option is incorrect. 

Q12. Consider the following statements regarding monkeypox virus (Mpox). 

1. It is caused by the virus, a species of the genus Orthopoxvirus. 
2. It cannot be transmitted to humans through physical contact with someone who is 

infectious. 
3. According to WHO, the South Asian region accounts the highest number (90 per cent) of the 

reported cases. 

How many of the above statements is/are correct? 

a) Only one 
b) Only two 
c) All three 
d) None 

Solution: a 

Explanation: 

News: 

 

Mpox is a viral illness caused by the monkeypox virus (commonly abbreviated as MPXV), a species 
of the genus Orthopoxvirus. 

Common symptoms include a skin rash or mucosal lesions that can last for two to four weeks 
accompanied by fever, headache, muscle aches, back pain, low energy and swollen lymph nodes. 

It can be transmitted to humans through physical contact with someone who is infectious, with 
contaminated materials, or with infected animals. 

 

Q13. In reference to Aadhaar Enabled Payment System (AePS), consider the following statements. 

1. Rules and regulations, governing the operation of AePS, issued by National Payment 
Corporation of India. 
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2. Users are not required to share their bank account details during the transaction under 
AePS. 

3. Cash deposits is not allowed under AePS. 

How many of the above statements is/are correct? 

a) Only one 
b) Only two 
c) All three 
d) None 

Solution: b 

Explanation: 

Only third is incorrect. 

AePS, or Aadhaar-enabled payment system, is a service developed by the National Payments 
Corporation of India.  

It allows users to conduct transactions on a micro-ATM by providing their Aadhaar number and 
biometric information. Here are the key features of AePS: 
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All System Participants are required to adhere to the rules and regulations, governing the 
operation of AePS, issued by NPCI (System Provider of AePS). 

Q14. Consider the following statements regarding World Health Organization.  

1. The World Health Assembly is the decision-making body of WHO which is attended by the 
delegation of all member states of WHO annually. 

2. Every member country must pay some amount based mainly on the country’s GDP, to be a 
member of the Organization. 

3. All countries which are Members of the United Nations can only become members of WHO. 

How many of the above statements is/are correct? 

a) Only one 
b) Only two 
c) All three 
d) None 

Solution: b 

Explanation: 

Founded in 1948, WHO is the United Nations agency. 

The World Health Assembly is the decision-making body of WHO.  

It is attended by delegations from all WHO Member States. 

The main functions of the World Health Assembly are to determine the policies of the Organization, 
appoint the Director-General, supervise financial policies, and review and approve the proposed 
programme budget. The Health Assembly is held annually in Geneva, Switzerland. 

 

Assessed contributions are the dues countries pay in order to be a member of the Organization. 
The amount each Member State must pay is calculated relative to the country's wealth and 
population. 

All countries which are Members of the United Nations may become members of WHO by 
accepting its Constitution. Other countries may be admitted as members when their application 
has been approved by a simple majority vote of the World Health Assembly. 

Q15. Peoples’ Climate Vote 2024 was recently conducted by: 

a) UNDP  
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b) UNEP 
c) UNFCCC Secretariat 
d) Amnesty International 

Solution: a 

Explanation: 

Read: 

News: 

 

The Peoples’ Climate Vote 2024 is the second edition of the Peoples’ Climate Vote survey, carried 
out by the United Nations Development Programme (UNDP) and the University of Oxford. 

The 2024 survey is bigger in terms of countries: people in 77 countries, representing 87% of the 
world’s population, were asked their views on climate change. 

Why I took this news? 

 

Just see the results of new survey: 
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Q16. Consider the following pairs. 

1. Soon after Independence, the University Education Commission was set up under the 
Chairmanship of Dr. S Radhakrishnan to report on Indian university education. 

2. University Grants Commission (UGC) is a statutory body. 
3. Lord Macaulay in his minutes of 1835 advocated to encourage indigenous education and 

regional language.  

How many of the above pairs is/are correct? 

a) Only one 
b) Only two 
c) All three 
d) None 

Solution: b 

Explanation: 

These statements are taken directly from UGC website. Padhna aur practice ache se sikh lo idhar. 
Abhi waqt h. Every single day counts.  

Note: You won’t be able to do every such topic on your own. This is sole reason I insists every single 
day do Join Goaltide practice Platform, solve quizzes, Test Series. Its on you how you take this.  

First and second are correct statements: 
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Third statement is incorrect: 

 

Q17. Consider the following statements. 

1. CBI to obtain the consent of the state government before conducting investigation in a 
particular state thereby limiting its jurisdiction. 

2. CBI is a statutory body. 
3. Prime Minister, Speaker of Lok Sabha and CJI are the members of appointment committee 

to appoint a director of CBI. 
Which of the above statements is/are correct? 

a) 1 and 2 only 
b) 3 only 
c) 1 only 
d) 1 and 3 only 

Solution: c 

Explanation: 

Section 6 of the Delhi Special Police Establishment Act 1946 requires the CBI to obtain the consent 
of the state government before conducting investigation in a particular state thereby limiting its 
jurisdiction. 

 

What is the concept of “General Consent”? 

In case of 'general consent' the CBI does not have to obtain the prior permission of the state 
government before investigation. When a state withdraws general consent, CBI officers lose the 
powers to conduct investigation in the concerned state. In order to register a new case, the agency 
has to seek specific consent from the State government. As a result, it stalls registration of new 
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cases. And over the years, general consent has been used as a tool of political rivalry between the 
centre and state. 

Second Statements is incorrect: 

Origins of CBI can be traced back to the Special Police Establishment (SPE) set up in 1941 in order to 
cases of bribery and corruption in War & Supply Department of India during World War II. 

The need of a Central Government agency to investigate cases of bribery and corruption was felt 
even after the end of World War II. So, DSPE (Delhi Special Police Establishment) Act, 1946 was 
brought that gave legal power of investigating cases to CBI. 

CBI is not a statutory body as it is not established by an Act of the Parliament. 

Third Statement is incorrect: 

Members are: 

1. Prime Minister of India 
2. Leader of Opposition 
3. CJI. 

Q18. Consider the following rivers. 

1. Chenab 
2. Jhelum 
3. Indus 
4. Satluj 

How many of the above rivers flow through newly formed Union Territory of Jammu and Kashmir? 

a Only two 
b Only three 
c Only one 
d All four 

Solution: a 
Explanation: 
Only Chenab and Jhelum pass through Jammu and Kashmir UT. 
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Satluj, you can see in above maps, flows below Ravi, so it far away from Jammu and Kashmir. 
Satluj river doesn’t cross Jammu and Kashmir. It enters India in Himachal Pradesh. 

Satluj rises from beyond Indian borders in the Southern slopes of the Kailash mountain near 
Mansarover lake from Rakas lake, as Longcchen Khabab river (in Tibet).  



QUIZ COMPILATION AUGUST 

 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 22 

 

Flowing northwestward and then west southwestward through Himalayan gorges, it enters and 
crosses the Indian state of Himachal Pradesh before beginning its flow through the Punjab plain 
near Nangal, Punjab state. Continuing southwestward in a broad channel, it receives the Beas River 
and forms 65 miles (105 km) of the India-Pakistan border before entering Pakistan. 

Hope, now you are clear with rivers now. These are small things but great learning. 

Q19. Consider the following statements regarding Deputy Chairman of India. 

1. Deputy Speaker finds itself mentioned in the second schedule of Indian Constitution. 
2. There is no Constitutional provision to remove Deputy Speaker from the office. 

Select the correct code. 

a 1 only 
b 2 only 
c Both 1 and 2 
d Neither 1 nor 2 

Solution: a 

Explanation: 

Second statement is also wrong. As you can see below, there is a provision mentioned to remove 
Deputy Speaker. 

Removal of Deputy Chairman: 

 

First statement is correct. 

 

Q20. Consider the following statements regarding Biomining. 
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1. It is the process of using microorganisms (microbes) to extract metals of economic interest 
from rock ores or mine waste. 

2. The use of this technique is limited to metals which can be oxidized by the microbes.  
3. This technique is not suitable for metals like iron and copper, which are dissolved easily in 

water, for such minerals other techniques are used. 
How many of the above statements is/are correct? 

a Only one 
b Only two 
c All three 
d None 

Solution: a 

Explanation: 

Only first statement is correct. 

Biomining is the process of using microorganisms (microbes) to extract metals of economic interest 
from rock ores or mine waste. Biomining techniques may also be used to clean up sites that have 
been polluted with metals. 
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Q21. Consider the following statements. 

1. Statement-I: India imposed its first emergency under Article 352 under priministership of 
Indira Gandhi in 1975. 

2. Statement II: June 25 to be observed as "Samvidhan Hatya Divas" in India in remembrance of 
1975 Emergency. 

Which one of the following is correct in respect of the above statements? 

a) Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for 
Statement-I 

b) Both Statement-I and Statement-II ate correct and Statement-II is not the correct 
explanation for Statement-I 

c) Statement-I is correct but Statement-II is incorrect 
d) Statement-I is incorrect but Statement-II is correct  

 

Solution: d 

Explanation: 

All registered Prelims 2025 students who attended Abhyaas session-3 will not do wrong here. 
Dimag khol ke questions padhiye.  

Statement one is incorrect as it is not the first emergency. 
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Q22. Consider the following pairs (migration prone areas: location) 

1. Zinder: Nigeria 
2. Renk: South Sudan 

Select the correct code. 

a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 

Solution: b 

Explanation: 

Zinder: Algeria. 

See map: 
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Q23. In reference to ‘Agrivoltaics’ (APV) in India, consider the following statements. 

1. Agrivoltaics describes the co-location of crop cultivation and solar power generation on the 
same area. 

2. There is no currently APV projects operational in India. 

Select the correct code. 

a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 

Solution: b 

Explanation: 

News: 

 

Agrivoltaics, also known as agrisolar, dual-use solar, or low impact solar, is a technology that 
combines agriculture and solar energy production on the same land 
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Q24. India has joined forces with which country to develop the National Maritime Heritage Complex 
(NMHC) in Lothal, Gujarat? 

a) Indonesia 
b) Malaysia 
c) Vietnam 
d) Japan 

Solution: c 

Explanation: 

News: 

 

India and Vietnam, two nations with a rich and intertwined maritime history, are joining forces to 
develop the National Maritime Heritage Complex (NMHC) in Lothal, Gujarat.  
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This partnership, rooted in centuries-old maritime connections, highlights the enduring bond 
between the two countries and their commitment to preserving and celebrating their shared 
heritage. 

Q25. Which of the following state has northernmost tip? 

a) Manipur 
b) Tripura 
c) Meghalaya 
d) Nagaland 

Solution: D 

Explanation: 

 

Q26. Which of the following measures can help in tackling rupee appreciation? 

a) Purchase of Government securities from the public by the Central Bank. 
b) Lowering interest rates in commercial banks. 
c) Buying of foreign currency by the Central Bank. 
d) Sale of government securities to the public by the Central Bank. 

Select the correct answer using the code given below: 

4. 1 and 3 only 
5. 1, 2 and 3 only 
6. 2 and 3 only 
7. 2, 3 and 4 only 

Solution: b 

Explanation: 
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Currency appreciation is an increase in the value of one currency in relation to another currency. A 
strong currency makes imports cheaper and can improve living standards. However, it can also make 
exports less competitive and lead to lower economic growth.  

So, to stabilise the currency, various measures are adopted to increase the quantum of domestic 
currency and reduce the volume of foreign currency.  

Statements (1), (2) and (3) lead to an infusion of domestic currency among the public and reduces 
the foreign currency in the market; thus, it helps in tackling rupee appreciation (a feature of 
managed floating currency). However, the sale of Government securities to the public reduces the 
amount of currency held by the public.  

So, it cannot tackle rupee appreciation. So, statement (4) is incorrect. Hence, option b is the correct 
answer. 

Q27. As per the rules, Compensatory Afforestation Fund set up under Compensatory Afforestation 
Fund Act, 2016 can be used for: 

1. pest and disease control in forest 
2. soil and moisture conservation work in the forest 
3. Compensatory afforestation 
4. assisted natural regeneration 
5. artificial regeneration 
6. forest fire prevention and control operations 

 
Select the correct code. 

a) 2, 3 and 6 only 
b) 1, 2, 3 and 4 only 
c) 2, 3 and 4 only 
d) All of the above 

Solution: d 

Explanation: 

As per the Compensatory Afforestation Fund Rules, 2018. 
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Q28. Consider the following statements. 

1. The creation up of a Legislative Council is not exclusively in the hands of the state 
government. 

2. Like Rajya Sabha, Legislative Council cannot be abolished. 
3. Creation of Legislative Council needs an amendment to Constitution under Article 368. 

Which of the above statements is/are correct? 

a) 1 and 2 only 
b) 1 and 3 only 
c) 1 only 
d) None. 

Solution: c 

Explanation: 

First statement is correct: 

The setting up of a second chamber is not exclusively in the hands of the state government.  

 

Second statement is incorrect: You can clear see in above mentioned Article, we can abolish 
Legislative Council. 

Third statement is incorrect: 



QUIZ COMPILATION AUGUST 

 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 32 

 

 

Q29. In reference to definition of child in India, consider the following statements. 

1. POCSO defines a child as anyone under the age of 18. 
2. The child labour (Prohibition and Regulation) ACT, 1986 protects only those under age 14 as 

a child. 
3. As per Fundamental Duties, it is the duty of parent to provide opportunities for education to 

child between six and fourteen years. 
4. As per the DPSP, State shall endeavour to provide early childhood care and education till six 

years. 

How many of the above statements is/are correct? 

a) Only one 
b) Only two 
c) Only three 
d) All four 

Solution: d 

Explanation: 

Indian law doesn't have a clear definition of childhood. The definition and age specificity of who is a 
child changes according to convenience, cultural thinking and confusion across different laws and 
principles of the Indian Constitution.  

For example, POCSO defines a child as anyone under the age of 18, THE CHILD LABOUR 
(PROHIBITION AND REGULATION) ACT, 1986 protects only those under age 14 as a child. 

DPSP: 

 

FD: 

 

Q30. The western most Harappan site amongst the following is: 

a) Chanhudaro 
b) Kalibangan 
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c) Mohenjo-Daro 
d) Harappa 

Solution: c 

Explanation: 

 

Q31. Consider the following statements. 

1. As per the WHO, breastfeeding needs to be started withing one hour of the birth and can be 
continue till 6 months of the age. 

2. Average milk production is around 700-800ml/24hr hours for a normal mother. 
3. Malnutrition is one the major reason for insufficient milk production in women. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: c 

Explanation: 

It was taken from the recent article from The Statesman: 
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Q32. Consider the following pairs. (places in news: location) 

1. Sudzha: Lebanon 
2. Bureij & Nuseirat: GAZA 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 
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Solution: b 

Explanation: 

Read: 

 

 

 

Q33. Consider the following statements regarding removal of Chairman of Rajya Sabha in India. 

1. The chairman shall vacate his office if he ceases to be a member of the Council. 
2. The resolution must be passed by 50 per cent of the present members, plus one member, of 

those present in the House on that day to remove Chirperson. 
3. The is no role of Lok Sabha in the removal procedure of Vice President. 

How many of the above statements is/are correct? 
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a. Only one 
b. Only two 
c. All three 
d. None 

Solution: a 

Explanation: 

Only second statement is correct. 

Just read Article 67(B) of the Indian Constitution: 

1. The resolution must be passed by 50 per cent of the present members, plus one member, of 
those present in the House on that day. 

2. The Lok Sabha must also agree to the resolution with a simple majority. Third statement is in-
correct. 

3. No resolution can be moved unless at least 14 days advance notice has been given. 

 

First statement is true for Deputy Chairman. 

 

Q34. Consider the following statements regarding Bay of Bengal Initiative for Multi-Sectoral 
Technical and Economic Cooperation (BIMSTEC). 
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1. BIMSTEC came into being through the Bangkok Declaration. 
2. It constitutes seven Member States. 
3. Since its inception, only 5 ministerial level summits being held. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: C 

Explanation: 

The Bay of Bengal Initiative for Multi-Sectoral Technical and Economic Cooperation (BIMSTEC) is a 
regional organization comprising seven Member States lying in the littoral and adjacent areas of the 
Bay of Bengal.  
 
This sub-regional organization came into being on 6 June 1997 through the Bangkok Declaration.  
 
It constitutes seven Member States: five deriving from South Asia, including Bangladesh, Bhutan, 
India, Nepal, Sri Lanka, and two from Southeast Asia, including Myanmar and Thailand.  

 
BIMSTEC Summit: Only five BIMSTEC Summits till now 

This is the highest policy making body in the BIMSTEC process. 
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Q35. With respect to North Eastern Council (NEC), consider the following statements. 

1. It was constituted as a statutory advisory body under the State Reorganization Act, 1956. 
2. Governor and Chief Ministers of states are the members of the Council. 
3. The union home minister is ex-officio Chairman of the NEC. 

Which of the above statements is/are correct? 

a. 1 and 2 only 
b. 2 and 3 only 
c. 3 only 
d. 1, 2 and 3 

Solution: B 

Explanation: 

North Eastern Council (NEC) was constituted as a statutory advisory body under the NEC Act 1971 
(84 of 1971) and came into being on the 7th November, 1972 at Shillong. 

NEC was mandated to function as a statutory Regional Planning Body for the North Eastern Region.  

The Council comprises of Governors and Chief Ministers of constituent States and three members 
to be nominated by the President as per Clause (iii) of Section 3 of the North Eastern Council 
(Amendment) Act, 1971.  

 

The union home minister is ex-officio Chairman and the MoS(IC) DoNER is the ex-officio Vice-
Chairman of the NEC. 

Q36. Who as per the Government of India (Transaction of Business) Rules, 1961 can add or reduce 
the numbers of standing Committees or modify the functions assigned to them? 

a. President 
b. Ministry of Parliamentary Affairs 
c. Prime minister 
d. Speaker/Chairman of House 

Solution: c 

Explanation: 

Read: 
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Q37. With reference to Rajya Sabha, consider the following statements: 

1. The representatives of states in the Rajya Sabha are elected by the elected as well as the 
nominated members of state legislative assemblies. 

2. The Fourth Schedule of the Constitution deals with the allocation of seats in the Rajya Sabha 
to the states and union territories. 

Which of the statements given above is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: b 

Explanation: 

The representatives of states in the Rajya Sabha are elected by the elected members of state 
legislative assemblies. The election is held in accordance with the system of proportional 
representation by means of the single transferable vote. The seats are allotted to the states in the 
Rajya Sabha on the basis of population. Hence, the number of representatives varies from state to 
state. Hence, statement 1 is incorrect.  

The Fourth Schedule of the Constitution deals with the allocation of seats in the Rajya Sabha to the 
states and union territories. Hence, statement 2 is correct. 

Q38. Consider the following statements regarding World Trade Organization (WTO). 

1. In the WTO, power is not delegated to a board of directors or the organization’s head. 
2. When WTO rules impose disciplines on countries’ policies, that is the outcome of negotiations 

among WTO members. 
Which of the above statements is/are correct? 

a. 1 only 
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b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Read: 

 

Q39. As per the Forest (Conservation) Act, 1980, diversion of forest land for any non-forest purpose 
require approval of: 

a. Central Government 
b. Gram Sabhas 
c. State Government 
d. A or c 

Solution: a 

Explanation: 
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Q40. Which of the following countries does Tropic of Capricorn doesn’t pass? 

a. Australia 
b. New Zealand 
c. Madagascar 
d. Chile 

Solution: b 

Explanation: 
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Q41. The parameters used in National Institutional Ranking Framework (NIRF) to rank educational 
institutions across the country are: 

1. Teaching, Learning and Resources 
2. Research and Professional Practices 
3. Outreach and Inclusivity 
4. Gender Equality 
5. Perception 

Select the correct code. 

a. 1, 2, 3 and 5 only 
b. 2, 3, 4 and 5 only 
c. 1, 3, 4 and 5 only 
d. 1, 2, 3, 4 and 5 

Solution: a 

Explanation: 

The National Institutional Ranking Framework (NIRF) has been accepted by the MoE and launched by 
Honourable Minister for Education on 29th September 2015. This framework outlines a 
methodology to rank institutions across the country. 
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Q42. In reference to Treaty on the Non-Proliferation of nuclear weapons (NPT), consider the 
following statements. 

1. The Treaty entered into force in 1970. 
2. The Treaty establishes a safeguards system under the responsibility of the International 

Atomic Energy Agency (IAEA) to verify compliance with the Treaty. 
3. All nuclear-weapon States are part of this treaty. 
4. All UN members are the part of this treaty. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. Al four 

Solution: b 

Explanation: 

Opened for signature in 1968, the Treaty entered into force in 1970. On 11 May 1995, the Treaty 
was extended indefinitely.   

The NPT is a multilateral treaty aimed at limiting the spread of nuclear weapons including three 
elements: (1) non-proliferation, (2) disarmament, and (3) peaceful use of nuclear energy. 

‘Proliferation’ is the term used to describe a condition in which countries that aren’t recognised as 
‘Nuclear Weapon States’ by the treaty acquire nuclear weapons.  

 

A total of 191 States have joined the Treaty, including the five nuclear-weapon States. 

There are a total of nine nations that possess nuclear weapons. Five of the nation’s namely – US, UK, 
France, Russia and China have signed the treaty. The remaining four nations namely – India, 
Pakistan, Israel and North Korea have not signed the treaty and thus not a party to the treaty. 

Q43. Consider the following pairs. 

1. Nanjarayan Bird Sanctuary: Karnataka. 
2. Kazhuveli Bird Sanctuary: Tamil Nadu 
3. Tawa Reservoir: Madhya Pradesh 

Select the correct code. 

a. 1 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: b 

Explanation: 
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Read: 

India is one of the Contracting Parties to Ramsar Convention, signed in Ramsar, Iran, in 1971. India 
became a signatory to the convention on 1st February 1982. During 1982 to 2013, a total of 26 sites 
were added to the list of Ramsar sites, however, during 2014 to 2024, the country has added 59 
new wetlands to the list of Ramsar sites. 

Currently, Tamil Nadu harbours maximum number of Ramsar Sites (18 sites) followed by Uttar 
Pradesh (10 sites). 

Union Minister for Environment, Forest and Climate Change Shri Bhupender Yadav said on the eve 
of Independence Day 2024 that India has increased its tally of Ramsar sites (Wetlands of 
International Importance) to 85 from existing 82 by designating three more wetlands as Ramsar 
Sites. 

 

Q44. Consider the following statements. 

1. Bangladesh stands as India’s largest trading partner in South Asia. 
2. India maintains trade surplus with Bangladesh. 
3. India largely imports different types of apparel from Bangladesh. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: c 

Explanation: 

Bangladesh stands as India’s largest trading partner in South Asia, and India is one of Bangladesh’s 
major trade partners in Asia. 

If you see data below: 
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After peaking in 2021-22, there is a noticeable decline in exports in the following two years, with 
exports reducing to 11.07 billion USD in 2023-24, down by nearly 42% compared to the peak in 
2021-22. One reason could be the restrictions imposed by India on exports of rice, wheat, and 
sugar as part of measures to control rising domestic prices. 

India exports a diverse range of products to Bangladesh, including cotton yarn, petroleum products, 
oils, spices, and auto components.  

On the other hand, India imports essential commodities from Bangladesh, such as ready-made 
garments made of cotton, aircraft and spacecraft parts, jute, leather footwear, and marine 
products. 

India’s import of different types of apparel from Bangladesh has increased. 

 

Q45. Consider the following pairs. 

1. Nusantara: Indonesia 
2. Belgorod region: Russia 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Check now: 
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Q46. Ladakh shares boundary with: 

1. Pakistan 
2. Afghanistan 
3. China 
4. Turkmenistan 

Select the correct code. 

a. 1 and 2 only 
b. 1 and 3 only 
c. 1, 2 and 3 only 
d. 2, 3 and 4 only 

Solution: c 

Explanation: 

Ladakh shares boundary with Pakistan, China and Afghanistan. 
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Q47. With respect to Central Adoption Resource Authority (CARA), consider the following 
statements. 

1. It is a statutory body of Ministry of Women & Child Development. 
2. It functions as the nodal body for adoption of Indian children and is mandated to monitor and 

regulate in-country and inter-country adoptions. 
3. CARA is designated as the Central Authority to deal with inter-country adoptions in accordance 

with the provisions of the Hague Convention on Inter-country Adoption, 1993. 
Which of the above statements is/are correct? 

a. 1 and 2 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: d 

Explanation: 

News: 

Central Adoption Resource Authority 

Central Adoption Resource Authority (CARA) is a statutory body of Ministry of Women & Child 
Development, Government of India.  
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It functions as the nodal body for adoption of Indian children and is mandated to monitor and 
regulate in-country and inter-country adoptions.  

CARA is designated as the Central Authority to deal with inter-country adoptions in accordance 
with the provisions of the Hague Convention on Inter-country Adoption, 1993, ratified by 
Government of India in 2003. 

CARA primarily deals with adoption of orphan, abandoned and surrendered children through its 
associated /recognised adoption agencies. 

Q48. In the context of Indian Constitution, consider the following statements. 

1. The maximum number of representatives of the States in the Rajya Sabha has been fixed at 
250. 

2. The allocation of seats in the Rajya Sabha is done in accordance with a Statutory law enacted 
by the Parliament of India. 

Which of the above statements is/are not correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Read with full concentration. Abhi se adat ni daaloge (if you don’t do this now), you will suffer in 
end. No worries. Learn today. 

The maximum strength of the Rajya Sabha is fixed at 250, out of which, only 238 are to be the 
representatives of the States and Union Territories (elected indirectly) and 12 are nominated by 
the President. Question asked is about representatives of States and UTs. So, read carefully. 

The fourth schedule of the Constitution deals with allocation of seats in the Rajya Sabha to the 
States and Union Territories. It is not in the accordance with the law made by the Parliament. 

So, both are incorrect. Option c is right answer. 
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Q49. Which of the following factors goes as an input in determination of MSP in India? 

1. demand and supply 
2. cost of production 
3. price trends in the market, both domestic and international 
4. inter-crop price parity 

Select the correct code. 

a. 1, 2 and 3 only 
b. 2, 3 and 4 only 
c. 1 and 2 only 
d. 1, 2, 3 and 4 

Solution: d 

Explanation: 

 

Q50. Who established Swadeshi Vastu Pracharini Sabha to carry the message of Swadeshi among 
masses? 

a. Bal Gangadhar Tilak 
b. Surendranath Banerjee 
c. Bipin Chandra Pal 
d. Lala Lajpat Rai 

Solution: a 

Explanation: 
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Q51. In reference to ‘United Nations Charter,’ consider the following statements. 

1. India signed UN Charter in 1951. 
2. The charter has been amended 11 times since it came to force in 1945. 
3. Amendments to UN charter has to be ratified by two thirds of the Members of the United 

Nations, including all the permanent members of the Security Council. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: a 

Explanation: 

First and second are incorrect statements. 

The UN Charter was signed on 26 June 1945 by representatives of the 50 countries attending the 
United Nations Conference on International Organization in San Francisco. 

Since the UN's founding in 1945, the mission and work of the Organization have been guided by 
the purposes and principles contained in its founding Charter. 
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On 26 June 1945, India became a founder of the United Nations along with 50 other member-
states. India signed this day itself. 

The UN Charter has been amended five times since 1945. 

Article 108 of UN charter: 

Amendments to the present Charter shall come into force for all Members of the United Nations 
when they have been adopted by a vote of two thirds of the members of the General Assembly and 
ratified in accordance with their respective constitutional processes by two thirds of the Members 
of the United Nations, including all the permanent members of the Security Council. 

Q52. Rahul Navin appointed Director of ED. We will solve one question on appointment of ED. 

Central Government shall appoint a Director of Enforcement on the recommendation of the 
Committee consisting of: 

1. Union Home Minister 
2. Prime Minister 
3. Central Vigilance Commissioner 
4. Speaker, Lok Sabha 

How many of the above options is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: a 

Explanation: 

Currently, the ED Director is appointed under Section 25 of the CVC Act, 2003.  

The Central Government appoints a Director of Enforcement in the Directorate of Enforcement in 
the Ministry of Finance on the recommendation of a selection committee.  

The committee is consisting of: 

 

Q53. Consider the following statements. 

1. The State Government shall, on the recommendation of the National Tiger Conservation Au-
thority (NTCA) notify an area as a tiger reserve. 

2. NTCA will prepare a prepare a Tiger Conservation Plan to ensure protection of tiger reserve. 



QUIZ COMPILATION AUGUST 

 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 52 

 

3. As per the Act, regions declared as tiger reserves shall not affect the rights of the Scheduled 
Tribes or such other forest dwellers notified by the State Government. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: b 

Explanation: 

Only second statement is incorrect. 

Tiger Reserves are notified by State Governments as per provisions of Section 38V of the Wildlife 
(Protection) Act, 1972 on advice of the National Tiger Conservation Authority. 

 

 

Q54. Consider the following statements regarding Conference of Central and State Statistical 
Organizations (COCSSO). 

1. Ministry of Statistics and Programme Implementation organize Cossu every year. 
2. This Conference provides a platform for improved coordination between the Central and 

State Statistical organizations for enhancing the efficiency of the Indian Statistical System.   

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 



QUIZ COMPILATION AUGUST 

 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 53 

 

Solution: c 

Explanation: 

News: 

 

Ministry of Statistics and Programme Implementation (MoSPI) organized 28th Conference of Central 
and State Statistical Organizations (CoCSSO) during 12th-13th August, 2024 at Dr. Ambedkar 
International Centre, Janpath, New Delhi. 

 

It is being attended by the representatives of Central Ministries/Departments, State/UT 
Governments, World Bank, UN agencies and other stakeholders.  

This Conference provides an institutional platform for discussion and improved coordination 
between the Central and State Statistical organizations for enhancing the efficiency of the Indian 
Statistical System in a collaborative approach.   

 

The theme of discussion of the conference, "Use of Data for Decision Making: Strengthening State 
Statistical Systems," aims to facilitate exchange of ideas, best practices, discussion on issues of 
common interest and the way forward. 

In order to strengthen the coordination of statistical activities among the Ministry of Statistics and 
Programme Implementation, other Central Ministries and State Statistical Organisations, the 
Conference of Central and State Statistical Organisations (COCSSO) was organized for the first time 
in the year 1971. 

Earlier it was supposed to be organized once in every two years. keeping in view the usefulness of 
the Conference, it has now been decided to have it every year. 
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Q55. Consider the following statements. 

1. The Supreme Court should mandatorily report to President if President has asked for an 
opinion related to public importance. 

2. The Constitution has given power to Parliament to increase the number of judges of High 
Court. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: d 

Explanation:  

It is not mandatory for Supreme Court to respond for such opinion. See article 143 below. The 
Constitution has given power to President to increase the number of judges of High Court. Refer 
article 216 below. 

 

 

Q56. As per the Constitution, ‘Unsound mind’ is one the way for the disqualification from 
membership of which of the following? 

1. Member of Legislative Council. 
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2. Finance Commission 
3. Member of Parliament 
4. A Judge of the Supreme Court 

How many of the above bodies is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: b 

Explanation: 

 

 

Finance Commission:  

The term ‘unsound mind’ is mentioned not in Constitution, but Finance Commission 
(Miscellaneous Provisions) Act, 1951. 

 

For SC judge, the criteria is not “unsound mind”. 
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Q57. According to the Wildlife (Protection) Act, 1972, currently, which of the following 
animals cannot be hunted by any person except under some provisions provided by law? 

1. Ganges river dolphins 
2. Tiger 
3. Great Indian Bustard 

Select the correct answer using the code given below: 

a. 1 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3  

Solution: d 

Explanation: 

Under WPA, 1972, it is mentioned: 

 

Now, from above given three examples, it is very much clear, three species do not belong 
to Schedule 5 (where you can hunt animals, so all are correct). 

There are six schedules under the Wildlife Protection Act, 1972.You should have basic idea 
of such schedules. 

Q58. In the context of Parole (release of prisoner) in India, consider the following statements. 

1. As per the Act, only Central Government (Home Ministry) can make rules regarding the re-
lease of prisoners on parole. 

2. When a prisoner is on parole his period of release does not count towards the total period of 
the sentence. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: b 

Explanation: 

First statement is incorrect: 

‘Prisons’ is a State subject under the State List of the Seventh Schedule of the Constitution.  
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The management and administration of prisons fall exclusively in the domain of state 
governments and are governed by the Prisons Act, 1894, and the Prison Manuals of the respective 
state governments. 

The Prisons Act further says that only states can make rules regarding the release of prisoners on 
furlough, parole and remission, as part of the correctional process in jail reforms. However, the 
Centre too can put out non-binding guidelines. 

Second statement is correct: 

Also, as laid down by the Supreme Court in the State of Haryana vs Mohinder Singh (2000), “when a 
prisoner is on parole his period of release does not count towards the total period of the sentence, 
while when he is on furlough, he is eligible to have the period of release counted towards the total 
period of his sentence undergone by him”. 

Section 432 of Cr.P.C deals with Power to Suspend or Remit Sentences. However, Supreme Court, in 
Sunil Fulchand Shah v. Union of India, reported in AIR 2000 SC 1023, has categorically observed that 
"parole does not amount to suspension of sentence''. 

There is no uniform legislation to deal with furlough or parole. Different states have their own acts 
governing the two forms of release. 

Q59. Arrange the following from west to east. 

1. Sea of Azov 
2. Black Sea 
3. Caspian Sea 

Select the correct code. 

a. 1-2-3 
b. 2-1-3 
c. 1-3-2 
d. 2-3-1 

Solution: b 

Explanation: 
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Q60. Dasa saints, Purandaradasa and Kanakadasa propagated bhakti movement in: 

a. Karnataka 
b. Odisha 
c. Gujarat 
d. Uttar Pradesh 

Solution: a 

Explanation: 

See below: 

 

Q61. In recent experiment, it was found that prokaryotes are remarkably resilient to climate 
change – and as a result, could increasingly dominate marine environments.  

What are the consequences? 

1. This could reduce the availability of fish humans rely on for food. 
2. It will hamper the ocean’s ability to absorb carbon emissions. 

Select the correct code. 

a. 1 only 
b. 2 only 
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c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Across the global ocean, prokaryotes have been estimated to comprise ~30% of the biomass in the 
water column3 and respire over 50% of net primary production in surface waters. As a result, they 
represent an important pathway by which dissolved organic matter can be passed to higher trophic 
levels or sequestered in the deep ocean. 

Prokaryotes are abundant and metabolically active across the world’s oceans, from the tropics to the 
poles and from surface waters to under the seabed. 

If you see graph below, you see the impact of climate change is very less on prokaryotes: 

 

Prokaryotes include both bacteria and “archaea”, another type of single-celled organism. 

Marine prokaryotes grow extremely fast – a process that emits a lot of carbon. In fact, prokaryotes 
to an ocean depth of 200 metres produce about 20 billion tonnes of carbon a year: double that of 
humans. 
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This could reduce the availability of fish humans rely on for food, and hamper the ocean’s ability to 
absorb carbon emissions. 

Q62. What is the reason for the fall in passage of ships through Panama Canal recently? 

a. Houthis in Yemen attacking commercial vessels in the Red Sea 
b. Heavy oil spoils in the route have led to development of blocks in the sea which obstructing 

movements of vessels. 
c. Drying of the Gatun Lake due to less rainfall. 
d. Heavy pollution affecting marine biodiversity led to re-routing. 

Solution: c 

Explanation: 

The reason is drying up of Gatun Lake. 

News: 

 

 

Q63. “Global Development Compact Initiative” was recently launched by: 

a. European Union 
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b. India 
c. World Economic Forum 
d. UNESCO 

Solution: b 

Explanation: 

News: 

 

India hosted the 3rd Voice of Global South Summit on 17 August 2024. 

India had hosted the 1st Voice of Global South Summit (VOGSS) on 12-13 January 2023, and the 2nd 
Voice of Global South Summit on 17 November 2023, both in virtual format. Both the previous 
editions of the Summit saw participation of over 100 countries from the Global South. 

 

Q64. ‘Surfactants’ are used in food industry as: 

1. lubricants and foamers to emulsify fats in batters 
2. improve shelf life 
3. as dispersing agents, and retain moisture.  

Select the correct code. 
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a. 1 only 
b. 2 only 
c. 2 and 3 only 
d. 1, 2 and 3 

Solution: d 

Explanation: 

News: 

 

Cost-effective biosurfactants, a healthier substitute for synthetic surfactants useful for the food 
industry, can be produced using green substrates from agro-industrial waste.  

About: 

Surfactants are molecules that slither (to move by sliding from side to side along the ground like a 
snake) across surfaces of oil and water, water and oil, or air and water to form an emulsion.  

Surfactants are very useful in the food industry as  

a. lubricants and foamers to emulsify fats in batters,  
b. improve shelf life 
c. as dispersing agents, and retain moisture.  

  
Q65. Consider the following pair. 

1. Darfur: Syria 
2. Hudaydah region: Yemen 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: b 

Explanation: 

See map: 
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Q66. Consider the following statements. 

1. Blood is considered a ‘drug’ under the Drugs and Cosmetics Act, 1940. 
2. The regulation of blood banks falls under the domain of the Drug Controller-General of India. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Some factual statements from the article: 
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Q67. Consider the following statements. 

1. As pe the Members of Lok Sabha (Disqualification on the Grounds of Defection) Rules, 1985, a 
time limit has been imposed on Speaker to decide the defection case of the House. 

2. An independent member of Parliament is not disqualified if she/he joins any political party af-
ter her/his election. 

3. A member who is disqualified for being a member of the House under Tenth Schedule shall al-
so be disqualified to hold any post where the salary or remuneration for such office is paid out 
of the public revenue of the Government of India. 

Which of the above statements is/are correct? 

a. 3 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: a 

Explanation: 

Get used to such long and boring questions, you are going to face such in exam. 

First statement is incorrect: 

According to the "Members of Lok Sabha (Disqualification on the Grounds of Defection) Rules, 1985" 
and "The Members of Rajya Sabha (Disqualification on the Ground of Defection) Rules, 1985", a time 
limit has been imposed on the Leaders to bring the defecting members to the notice of the 
Speaker whereas no such rules as to the time limit for deciding the said matter has been 
mentioned. 

This creates a situation where Speakers often use this discretionary power as a species of 'Pocket 
veto' and often lead to unwarranted delays in deciding matters of defection. 

Second statement is incorrect: 

An independent member of Parliament or a State Legislature will also be disqualified if she/he 
joins any political party after her/his election. 

Third statement is correct: 
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Article 361B of the Constitution inter alia provides— “A member of a House belonging to any 
political party who is disqualified for being a member of the House under paragraph 2 of the Tenth 
Schedule shall also be disqualified to hold any remunerative political post for duration of the period 
commencing from the date of her/his disqualification till the date on which the term of her/his office 
as such member would expire or till the date on which she/he contests an election to a House and is 
declared elected, whichever is earlier.”  

The expression “remunerative political post” means any office under the Government of India or the 
Government of a State where the salary or remuneration for such office is paid out of the public 
revenue of the Government of India or the Government of the State, as the case may be. 

Q68. Citizens can claim fundamental rights guaranteed under the Constitution only if they perform 
their fundamental duties under Article 51A. 

a. The statement is correct because only those who perform their duties can make a moral 
claim for rights. 

b. The statement is correct because only lazy and irresponsible persons think only of their 
rights without considering their duties. 

c. The statement is correct because for the development of the country, citizens must be con-
cerned more about their duties than their rights. 

d. The statement is wrong because the Constitutionally guaranteed rights are not conditional 
on the individuals performing their fundamental duties. 

Solution: d 

Explanation: 

Explanation is given in statement 4.  

Q69. What is the significance of the term "reasonable classification" in the context of Article 14? 

a. It allows for differential treatment without a rational basis 
b. It prohibits any form of classification 
c. It permits classification for a legitimate purpose 
d. It only applies to economic legislation 

Solution: c 

Explanation: 

Doctrine of reasonable classification has been originated from Article 14 of Indian Constitution. 
Article 14 is a fundamental right to equality to every citizen in the country. It is one of the most 
important provisions of the constitution as it provides equality to all the people within the territory 
of India. 

The Rule of Law cannot prevent a certain class of persons from being subject to special laws, hence, 
the State has the power to make laws operating differently on different classes of people, in a way 
that the principle of equality of civil rights and equal protection of law is followed. This is being 
known as the 'Doctrine of Reasonable Classification'. 

Article 14 permits Reasonable Classification and not Class Legislation. Class Legislation means 
making of improper discrimination by conferring certain privileges upon a class of persons arbitrarily 
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selected from a huge number of people. Thus, Class legislation violates equal protection whereas, 
Reasonable Classification is always based on real and substantial distinction. 

Q70. With reference to the medieval history of India, the terms Dahsala, Batai and Nasaq are 
related to: 

a. Administrative posts during rule of Mughal dynasty. 
b. Land revenue system during Akbar reign 
c. Merchant guilds during Guptas reign 
d. Irrigation taxes during Harshvardhan reign 

Solution: b 

Explanation:  

All three terms are related to land revenue system during the Akbar Reign. 

In 1580, Akbar instituted a new system called Dahsala. Under this the average produce of different 
crops and their average prices prevailing over the last 10 years were calculated and l/3rd the 
average produce fixed in rupees per bigha was demanded as the state’s share. 

Galla bakhshi means crop-division and in Hindi it is known as batai or bhaoli. It is, according to Abu-
1-Fazl, a mode of assessment by which the state’s demand used to be assessed on the basis of the 
division of crop by agreement in presence of the parties. According to the Galla-Bakshi system the 
produce of the farmers was divided between the Government and the farmers in the ratio settled 
between them. After cutting the crops, they were bound in bundles and then these bundles were 
divided between the farmers and the Government. 

Third system used under Akbar’s reign was nasaq. It means a rough calculation of the amount of the 
payable by the peasant on the basis of what he has been paying in the past. 

Q71. In reference to ‘Lateral entry into bureaucracy in India’. Consider the following statements. 

1. There is no quota for OBC, SCs, STs in such recruitment. 
2. As per the 13-pointer roster formula, if there are 6 vacancies (same post) in any department, 

then 3 seats should go to General, 1 for OBC, STs, SCs each. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: a 

Explanation: 

Read below: 
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Q72. The Rapid Innovation and Start-up Expansion (RISE) Accelerator, launched in 2023 has been 
instrumental in supporting start-ups and MSMEs in validating, adapting, and piloting their 
technologies for new markets. 

Which two countries has launched this? 

a. India- Sweden 
b. India- Norway 
c. India- Australia 
d. India-US 

Solution: c 

Explanation: 

News: 

 

The India Australia Rapid Innovation and Start-up Expansion (RISE) Accelerator, is a purpose-built 
program to support and accelerate Indian and Australian start-ups. 

RISE Accelerator targets to enable start-ups with mature tech-based innovations to fast-track their 
cross-border social, economic and environmental impact through cross-border innovation 
ecosystem. 

 

Q73. Consider the following statements regarding International Earth Sciences Olympiad (IESO). 

1. IESO is an annual competition for secondary school students from across the globe. 
2. The students have to test their skills in all major areas of Earth sciences, including geology, 

geophysics, meteorology, and environmental sciences. 
3. This year, India participated for the first time in 2024 IESO. 

How many of the above statements is/are correct? 

a. 1 and 2 only 
b. 2 and 3 only 
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c. 1 and 3 only 
d. 1, 2 and 3 

Solution: a 

Explanation: 

News: 

 

The Indian student team has bagged multiple prestigious medals at the 17th edition of the 
International Earth Sciences Olympiad (IESO) held in Beijing, China, from August 08-16, 2024. 

IESO, established in 2003 at the International Geoscience Education Organization Council Meeting in 
Calgary, Canada, is an annual competition for secondary school students from across the globe. 

 

India has participated in the IESO since 2007 and hosted its 10th edition in Mysore. 

To encourage the participation of Indian students (of grades 9 to 12), the MoES supports the Indian 
National Earth Science Olympiad (INESO) held in various schools across India.  

The MoES supports the INESO and IESO as part of the REACHOUT scheme under the PRITHVI 
(PRITHvi Vigyan) scheme approved by the Union Cabinet in January 2024. 

Q74. The North Eastern Handicrafts and Handlooms Development Corporation (NEHHDC) has 
successfully obtained the prestigious Oeko-Tex certification for its Eri Silk. 

We will solve one question on this. 

1. The Oeko-Tex certification ensures textiles are tested for harmful substances and produced 
in environment friendly conditions. 

2. Eri Silk is renowned as the world’s only vegan silk, where, unlike other silks, the moth inside 
the cocoon is not killed. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 
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Explanation: 

News: 

 

The prestigious Zurich-based International Oeko-Tex Association has been around since 1992. It 
now operates in over 40 countries.  

It’s valid for three years, after which it needs to be renewed. 

Eri Silk is renowned as the world’s only vegan silk, where, unlike other silks, the moth inside the 
cocoon is not killed. Instead, the moth naturally exits the cocoon, leaving it behind for us to use. 
This ethical and eco-friendly process sets Eri Silk apart, making it a symbol of compassion and 
sustainability in the textile industry. 

The Oeko-Tex certification, a rigorous standard that ensures textiles are tested for harmful 
substances and produced in environment friendly conditions, is a significant endorsement for Eri 
Silk.  

This certification marks a pivotal step in bringing Eri Silk closer to penetrating the global export 
market, expanding its reach, and establishing a strong international presence. 

Q75. In reference to International Criminal Court (ICC), consider the following statements.  

1. ICC does not have its own police force or enforcement body. 
2. ICC is not a United Nations organization. 
3. Both the Prosecutor and the Defence have the right to appeal on the verdict of ICC. 
4. India is signatory to the treaty that established the International Criminal Court. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: c 

Explanation: 

Only fourth is incorrect. 

The Rome Statute of the International Criminal Court is the treaty that established the 
International Criminal Court. It was adopted at a diplomatic conference in Rome, Italy on 17 July 
1998 and it entered into force on 1 July 2002. 

Governed by an international treaty called the Rome Statute, the ICC is the world’s first permanent 
international criminal court. 
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As a judicial institution, the ICC does not have its own police force or enforcement body; thus, it 
relies on cooperation with countries worldwide for support. 

While not a United Nations organization, the Court has a cooperation agreement with the United 
Nations. When a situation is not within the Court’s jurisdiction, the United Nations Security Council 
can refer the situation to the ICC granting it jurisdiction.  

The ICC is intended to complement, not to replace, national criminal systems; it prosecutes cases 
only when States do not are unwilling or unable to do so genuinely. 

As an international court, the ICC's legal process may function differently from that in your national 
jurisdiction. 

Both the Prosecutor and the Defence have the right to appeal on the verdict (decision on guilt or 
innocence of the accused) and the sentence. 

India is not a member of ICC. 

Q76. Consider the following nations. 

1. Bhutan 
2. Nepal 
3. Bangladesh 

Which of the above nations shares same number of boundaries with India states? 

a. 1 and 2 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: b 

Explanation: 

The Indian states that touch the border with Nepal are Bihar, Uttar Pradesh, Uttarakhand, West 
Bengal and Sikkim. 

Bangladesh shares border with five Indian states: West Bengal, Tripura, Meghalaya, Mizoram and 
Assam. 

Bhutan boundaries Indian states of Assam, Arunachal Pradesh, West Bengal, and Sikkim. 
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Q77. In the context of provisions of Indian Constitution, consider the following statements. 

1. Parliament by law decides about the number of Judges in Supreme Court and High Court. 
2. Both Supreme Court and High Court Judges resigns from office by writing under his/her hand 

addressed to President 
Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: b 

Explanation: 

Number of SC Judges are decided by Parliament by law and HC Judges are decided by President. 
See below both the cases: 
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From above images, first statement is wrong, and second statement is correct. 

In Supreme Court, Parliament by law decides about number of Judges but in High Court President 
decides. 

Q78. Lead is a highly toxic metal and a very strong poison. Which of the following are the sources of 
lead poisoning? 

1. Polyvinyl Chloride (PVC) pipes 
2. Paints 
3. Toys and Jewelry 
4.  Pencils 

Select the correct answer using the code given below: 

a. 1 and 4 only 
b. 2 and 4 only 
c. 1, 2 and 3 only 
d. 1, 2, 3 and 4 

Solution: c 

Explanation: 

The National Green Tribunal (NGT) has directed the Centre to submit a report on standards of lead 
and to phase out lead as a stabilizer in Polyvinyl Chloride (PVC) pipes that are commonly used in 
most buildings. The NGT was earlier informed that water passing through PVC pipes commonly used 
in most buildings may contain toxic materials like lead, which has a hazardous effect on human 
health. While most of the organized manufacturers have started using alternative stabilizers such as 
zinc in PVC pipe-making, some of the small units still rely on lead due to the cost factor. The 
replacement of lead with zinc for stabilizing heat in PVC pipe manufacturing is likely to push up costs 
by 3-5 per cent. 

Lead is used in paint to add color, improve the ability of the paint to hide the surface it covers, and 
to make it last longer. Second  

Lead has been found in inexpensive children's jewelry sold in vending machines and large volume 
discount stores across the country. It also has been found in inexpensive metal amulets worn for 
good luck or protection. 
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Point (4) is not correct: There is no lead in pencils. Rather, the core is made up of a non-toxic 
mineral called graphite. 

Q79. Direct Benefit Transfer (DBT) Mission is administered by: 

a. Department of Expenditure, Ministry of Finance 
b. Department of Economic Affairs, Ministry of Finance 
c. NITI Aayog 
d. Cabinet Secretariat headed by Cabinet Secretary 

Solution: d 

Explanation: 

DBT Mission was created in the Planning Commission to act as the nodal point for the 
implementation of the DBT programmes. The Mission was transferred to the Department of 
Expenditure in July 2013 and continued to function till 14.9.2015.  

To give more impetus, DBT Mission and matters related thereto has been placed in Cabinet 
Secretariat under Secretary w.e.f. 14.9.2015. 

Q80. Which of the following texts contains the Sanskrit phrase “Vasudhaiva Kutumbakam”? 

a. Manusmriti 
b. Vishnu Puran 
c. Maha Upanishad 
d. Bhagavat Puran 

Solution: c 

Explanation: 

“Vasudhaiva Kutumbakam” is a Sanskrit Phase which means that the whole world is one single 
family. The concept originates in Vedic Scripture Maha Upanishads. 

Q81. Which of the following countries borders Poland (recent visit of Prime Minister)? 

1. Germany 
2. Hungary 
3. Baltic Sea 
4. Ukraine 

Select the correct code. 

a. 1, 2 and 3 only 
b. 2, 3 and 4 only 
c. 1, 3 and 4 only 
d. 2 and 3 only 

Solution: c 

Explanation: 

Check the map: 
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Q82. In reference to ‘horse shoe crabs’, consider the following statements. 

1. Horse shoe crab species are found in the eastern coasts of India. 
2. Because blood of horseshoe crabs can clot in the presence of bacteria, medical researchers 

use it to test intravenous drugs, vaccines, and medical devices. 
3. Horseshoe crabs are more closely related to spiders than they are to crabs. 

How many of the above statements is/are correct? 

a. 1 and 3 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: D 

Explanation: 

All are correct. 

Despite their name, they are not true crabs or crustaceans. Rather, they are chelicerates. This 
makes them more closely related to arachnids like spiders, ticks, and scorpions. 
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Because their blue, copper-based blood quickly clots in the presence of bacterial toxins, medical 
researchers use it to test intravenous drugs, vaccines, and medical devices, ensuring that they are 
free of bacterial contamination. 

Q83. Consider the following statements. 

1. Recently in 2024, India had their first 2+2 dialogue with Japan. 
2. Presently, India is having 2+2 dialogue only with Japan and United States. 
3. India’s first 2+2 dialogue was held with United States in 2018. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. 3 only 
d. 2 and 3 only 

Solution: c 

Explanation: 

First and second are incorrect. 

News: 

 

The '2+2' dialogue with Japan was initiated to further deepen bilateral security and defence 
cooperation and bring greater depth to the special strategic and global partnership between the two 
countries. 
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On November 30, 2019, India and Japan held their first 2+2 meeting in New Delhi. 

India has the '2+2' ministerial format of dialogue with very few countries including the US, 
Australia, and Russia. 

India’s first 2+2 dialogue was held between with United States in 2018. 

A ‘two plus two dialogue’ is a term — adopted in foreign parleys — used for installation of a 
dialogue mechanism between two countries’ defence and external affairs ministries. To put it 
simply, ‘two plus two dialogue’ is an expression used to indicate that two appointed ministers 
from each country, the ministers of defence and external affairs in this case, will meet up to 
discuss the two countries’ strategic and security interests. The goal is to establish a diplomatic, yet 
fruitful, conversation between the two countries’ respective heads of defence and external affairs. 

 

Q84. Consider the following statements. 

1. Currently, there is no law in India to regulate the export trade in antiquities and art treasures 
and to prevent smuggling and fraudulent dealings in antiquities. 

2. India has ratified UNESCO 1970 Convention on the Means of Prohibiting and Preventing the 
Illicit Import, Export and Transfer of Ownership of Cultural Property. 

3. As per the Act, no person other than the Central Government can export any antiquity or 
art treasure. 

Which of the above statements is/are correct? 

a. 1 and 2 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: B 

Explanation: 

What do Indian laws say? 

Before Independence, an Antiquities (Export Control) Act had been passed in April 1947 to ensure 
that “no antiquity could be exported without license.” In 1958, The Ancient Monuments and 
Archaeological Sites and Remains Act was enacted. Then in 1971, Parliament saw an uproar over the 
theft of a bronze idol from Chamba and some important sandstone idols from other places. 

This, along with the UNESCO convention (mentioned below), prompted the government to enact 
The Antiquities and Art Treasures Act, 1972 (AATA), implemented from April 1, 1976. 
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The 1970 Convention on the Means of Prohibiting and Preventing the Illicit Import, Export and 
Transfer of Ownership of Cultural Property urges States Parties to take measures to prohibit and 
prevent the illicit trafficking of cultural property. It provides a common framework for the States 
Parties on the measures to be taken to prohibit and prevent the import, export and transfer of 
cultural property. 

 

 

The AATA states, “it shall not be lawful for any person, other than the Central Government or any 
authority or agency authorised by the Central Government in this behalf, to export any antiquity or 
art treasure… 

 

Q85. The quorum to constitute a meeting of a House of the Legislature of a State is: 

a. one-tenth of the total number of members of the House 
b. One- fourth of the total number of members of the House 
c. Ten members 
d. 10 members or one-tenth of the total number of members of the House, whichever is great-

er. 

Solution: d 

Explanation: 

See Article: 

 

Q86. Which of the following can be notified under Wetlands (Conservation and Management) 
Rules, 2017? 
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1. Wetlands designated by the Government of India to the List of Wetlands of International Im-
portance. 

2. Paddy fields 
3. Human-made waterbodies specifically constructed for aquaculture purposes 
4. Wetlands falling within areas covered under the Wildlife (Protection) Act, 1972 

Select the correct code. 

a. 1 only 
b. 1, 2 and 3 only 
c. 1 and 4 only 
d. 2 and 3 only 

Solution: a 

Explanation: 

 

 

 

Q87. Consider the following statements. 

1. The most important objective of Contempt of Court powers given to the judiciary is to protect 
the status of individual judges. 

2. As per the law, both High Courts and the Supreme Court of India have the power to try and 
punish the offence of contempt. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
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d. Neither 1 nor 2 
Solution: b 

Explanation: 

The Contempt of Courts Act 1971 categorizes the offence of contempt into civil and criminal 
contempt. The Act specifies that High Courts and the Supreme Court of India have the power to try 
and punish the offence of contempt, and High Courts have the power to punish acts of contempt 
against courts subordinate to them. 

The Contempt of Court powers is given to the judiciary to prevent obstacles in the administration 
of justice. However, what we are seeing is that this power is often misused by the courts to protect 
the status of individual judges.  

Q88. As per the provisions mentioned in the Constitution, consider the following statements. 

1. An election to fill a vacancy caused by the expiration of the term of office of President shall 
be completed before the expiration of the term. 

2. The person elected to fill the vacancy of the President shall be entitled to hold office for the 
full term of five years from the date on which he enters upon his office. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

 

Q89. Which of the layers of the Earth is solid? 

a. Outer core 
b. Inner core 
c. Both outer and inner cores are liquid. Only the mantle is solid 
d. Except for the crest, it’s all liquid below 

Solution: b 

Explanation: 

 Although the inner core is very hot, it is solid because it is experiencing very high pressure. The 
pressure in the outer core is not high enough to make it solid. 
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Q90. The nationalization of coal mines took under the priministership of: 

a. Jawahar Lal Nehru 
b. Indira Gandhi 
c. Sanjay Gandhi 
d. P. V Narsimha Rao 

Solution: b 

Explanation: 

Once we go through history, we will never forget this. Prime Minister is not difficult if you know 
date of nationalization. Ok read now. 

 

Q91. Which Central American country recent passed a historic judgment to defend their right to a 
healthy environment by Guapinol communities? 

a. Guatemala 
b. Honduras 
c. Nicaragua 
d. Panama 

Solution: b 

Explanation: 

Read: 
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Central America, southernmost region of North America, lying between Mexico and South America 
and comprising Panama, Costa Rica, Nicaragua, Honduras, El Salvador, Guatemala, and Belize. 
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Q92. In reference to Padma Awards, consider the following statements. 

1. Government servants are eligible for these Awards. 
2. The Padma Awards are conferred on the recommendations made by the Padma Awards 

Committee headed by Prime Minister. 
3. The number of Bharat Ratna Awards is restricted to a maximum of three in a particular year. 
4. Padma Awards, which were instituted in the year 1954, were suspended only once. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: a 

Explanation: 

News: 
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First, second and fourth are incorrect. 

The Government of India instituted two civilian awards-Bharat Ratna & Padma Vibhushan in 1954. 
The latter had three classes namely Pahela Varg, Dusra Varg and Tisra Varg.  

These were subsequently renamed as Padma Vibhushan, Padma Bhushan and Padma Shri vide 
Presidential Notification issued on January 8, 1955. 

All nominations received for Padma Awards are placed before the Padma Awards Committee, which 
is constituted by the Prime Minister every year. The Padma Awards Committee is headed by the 
Cabinet Secretary and includes Home Secretary, Secretary to the President and four to six eminent 
persons as members. The recommendations of the committee are submitted to the Prime Minister 
and the President of India for approval. 

The nomination process is open to the public. Even self-nomination can be made. 

Third and fourth statement are part of UPSC prelims 2021 question.  

Both are difficult statements. It’s a challenge that no one will read these statements on their own. 
Statements are framed from original site of Padma Awards. See below: 

 

 

Q93. Consider the following statements. 

Statement 1: If the allegations of the prosecution is serious, courts can deny hearing the case for 
grant of bail in accordance with the law. 

Statement 2: Denying bails is considered as a violation of the rights guaranteed under Article 21 of 
our Constitution. 

Select the correct code. 
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a. Statement -1 is true, statement -2 is true; statement -2 is the correct explanation for statement 
-1. 

b. Statement -1 is true, statement -2 is true; statement -2 is NOT the correct explanation for 
statement  

c. Statement -1 is true, statement -2 is false. 
d. Statement -1 is false; Statement -2 is true. 

Solution: d 

Explanation: 

The question sis framed from: 

 

 

Q94. With reference to the cyanobacterial engineered living material (C-ELM), consider the 
following statements: 

1. The material developed by an Indian student to remove carbon dioxide from the atmosphere. 
2. It incorporates living cyanobacteria within translucent panels that can be mounted on the inte-

rior walls of buildings. 

Which of the statement(s) given above is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Both statements are correct. 
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Q95. Consider the following pairs (places in news: location) 

1. Mount Kanlaon on Negros Island: Philippines 
2. Odessa: Ukraine 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

See map below: 

 

 



QUIZ COMPILATION AUGUST 

 

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 87 

 

 

Q96. With reference to 70th National Film Awards 2024, consider the following pairs: 

1. Best Feature Film award –Aattam  
2. Best Actor – Rishab Shetty, Kantara  
3. Best Director – Sooraj Barjatya, Uunchai  

Which of the above pairs are not correctly matched? 

a. 2 and 3 only 
b. 1 only 
c. 1 and 2 only 
d. 1, 2 and 3 

Solution: c 

Explanation: 

All are correct. 

These questions have become favourite of UPSC these days. As this is National Film Awards, it is 
important. 

Learn that once from google. 

Q97. As per the Solid Waste Management Rules (SWMR), which of the following is/are ‘Sold 
Wastes’? 

1. A plant and animal waste such as vegetables, fruit peel. 
2. Waste from mining refining 
3. Medicines 
4. E-waste 

Select the correct code. 

a. 1 only 
b. 1 and 2 only 
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c. 1, 2 and 3 only 
d. 1, 2, 3 and 4 

Solution: d 

Explanation: 

Actually, aap confuse ho gye hoge, Medicines and E waste ko dekhke. You might be thinking we have 
E-waste Rules, we have Biomedical Waste Rules, but if you see the definition of Solid waste: 

 

All above are covered under this.  Thoda dhyan rakhiyega. UPSC mushkil ni, just right practice of 
questions will give you good learning and confidence. 

Q98. Consider the following statements. 

1. Countries that have achieved at least 5 consecutive years of zero indigenous cases are eligible 
to apply for a WHO certification of malaria-free status. 

2. Once certifies, country reports annually to WHO to maintain its malaria free status. 

How many of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: b 

Explanation: 

First is incorrect. 

Countries that have achieved at least 3 consecutive years of zero indigenous cases are eligible to 
apply for a WHO certification of malaria-free status. 

 

Q99. Consider the following bodies. 

1. President 
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2. Vice- President 
3. Speaker of Lok Sabha 
4. Deputy Chairman of Legislative Council 
5. Governor 

Second schedule of Indian Constitution lists the emoluments of which of the following Bodies? 

a. 1, 2, 4 and 5 only 
b. 1, 3 and 4 only 
c. 1, 3, 4 and 5 only 
d. All of the above 

Solution: c 

Explanation: 

This question needs your bit attention. If you look at second schedule. It lists emoluments for the: 

President, Governors of States, Speaker and the Deputy Speaker of the House of the People and the 
Chairman and the Deputy Chairman of the Council of States and the Speaker and the Deputy 
Speaker of the Legislative Assembly and the Chairman and the Deputy Chairman of the Legislative 
Council of a State, the Judges of the Supreme Court and of the High Courts and the Comptroller and 
Auditor-General of India. 

It doesn’t contain for Vice President. This body is already covered under Chairman of Rajya Sabha 
(Vice-President is ex-officio chairman of Rajya Sabha). 

Q100. Which of the following aspects can lead to appreciation in the exchange rate of the Rupee? 

1. Increase in foreign tourists coming to India.  
2. Indian citizens investing abroad.  
3. A decrease in crude oil prices.  
4. Increase in exports by Indian pharmaceutical companies.  

Select the correct answer using the code given below:  

a. 1 and 2 only  
b. 1, 3 and 4 only  
c. 2 and 4 only  
d. 1 and 3 only  

Solution: b 

Explanation:  

Increase in foreign tourists coming to India would increase the demand for Rupee. This would lead 
to an appreciation in the rupee value. So, Statement (1) is correct.  

Indian citizens investing abroad would demand foreign currency in exchange for Rupee. This would 
lead to the price of the foreign currency increasing relative to the rupee, leading to a depreciation 
in the value of the rupee. So, Statement (2) is not correct.  
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A decrease in crude oil prices would reduce the import bill of India as India imports about 70 per 
cent of its crude requirements. This would reduce the demand for foreign currency, which in turn 
would lead to an increase in the value of the rupee. So, Statement (3) is correct.  

Increase in exports by Indian pharmaceutical companies would bring foreign exchange in India. The 
price of foreign currency would reduce in terms of the rupee. This would lead to a depreciation in 
the value of the foreign currency and an appreciation in the value of the rupee. So, Statement (4) is 
correct.  

Therefore, the correct answer is (b). 

Q101. Consider the following statements. 

1. India proposed the formation of an Indian Carbon Market at the Kyoto Protocol in 1997. 
2. Perform, Achieve and Trade (PAT) is the only national level market-based mechanism cur-

rently operating in India. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: b 

Explanation: 

The formation of carbon markets comes at a crucial time with India’s commitment to the updated 
Nationally Determined Contributions (NDC) submitted to the UNFCCC in August 2022. 
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To clear your confusion: 

The Perform, Achieve, and Trade (PAT) scheme is an energy efficiency-based market mechanism in 
India that is being transitioned to the Carbon Credit and Trading Scheme (CCTS) to create a carbon 
market.  

The PAT scheme was developed in 2012 to reduce energy use in large industries, and the CCTS was 
introduced in June 2023 to meet India's Nationally Determined Contributions under the Paris 
Agreement. The PAT scheme is expected to play a key role in the new carbon market, and some say 
that lessons learned from the PAT scheme can help the carbon market succeed. 

Q102. In reference to ‘granting sanction to prosecute a public servant in India’, consider the 
following statements. 

1. As per the Act, the State and Central governments had the authority to sanction prosecution 
of their respective employees. 

2. Presently, provision of granting sanction applied only to public servants who are currently in 
office, no sanction needed if the person no more held that office. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: a 

Explanation: 

Under both the CrPC and the Prevention of Corruption Act (PCA), the State and Central 
governments had the authority to sanction prosecution of their respective employees. 

Section 218 of the Bharatiya Nagarik Suraksha Sanhita (BNSS), the procedure code that has replaced 
the CrPC, retains the same provisions. 
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Q103. Zoonotic diseases are caused by: 

1. Bacteria 
2. Virus 
3. Fungi  
4. Protozoa 

Select the correct code. 

a. 1 and 2 only 
b. 2 and 3 only 
c. 1, 2 and 3 only 
d. All four. 

Solution: d 

Explanation: 

Not very tough. Just took from the article below. All know about examples of zoonotic diseases. 
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Q104. Consider the following statements. 

1. India and Bangladesh have yet not signed extradition treaty. 
2. In the Government of India, the Ministry of Home Affairs acts as the Central Authority for ex-

tradition matters. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 
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Solution: D 

Explanation: 

Read: 

and Bangladesh have an extradition treaty? 

 

In the Government of India, the Ministry of External Affairs acts as the Central Authority for 
extradition matters. 

Q105. As per the recent report, in which of the following sectors women dominated men in urban 
and rural areas both? 

1. Agriculture 
2. Manufacturing 
3. Construction 
4. Transport 

Select the correct code. 

a. 1 and 2 only 
b. 1, 2 AND 3 ONLY 
c. 1 and 3 only 
d. 1, 3 and 4 only 

Solution: a 

Explanation: 

Read the data from report. 
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Q106. Hampi is located on the south bank somewhere in the middle of this river's path. The river 
joins the Krishna River in the Kurnool district of Andhra Pradesh. Name the river. 

a. Koyna 
b. Tungabhadra 
c. Indravati 
d. Malaprabha. 

Solution: b 

Explanation: 

It’s a fact. Yaad kar lijyr. Idhar udhar dekhne se koi faayda ni.. 

Q107. A State action, which has no discriminatory intention, results in disadvantage to a particular 
group, infringing their rights. 

a. The action is not unconstitutional because there is no discriminatory intent. 
b. The action is unconstitutional because it has the effect of discrimination. 
c. The State action cannot be challenged on the sole ground that it affects the right of only a par-

ticular group. 
d. The State Action is not unconstitutional because only direct discrimination is prohibited under 

the Constitution. 

Solution: b 

Explanation: 

In Lt Col Nitisha vs. Union of India (2021), the Supreme Court explained the concept of "indirect 
discrimination" and held that an action will be unconstitutional if it has a discriminatory effect on 
a particular section, though it was facially neutral and lacked discriminatory intent. 

Q108. Consider the following statements regarding Mahatma Gandhi National Rural Employment 
Guarantee Act, 2005. 

1. Under the Act, priority be given to women in such a way that at least one-third of the benefi-
ciaries be women. 

2. Currently, wage rates are notified based on Consumer Price Index-Agricultural Labourers 
(CPI-AL) by the State Government. 
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Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: a 

Explanation: 

First statement is correct. 

 

Second statement is incorrect: 

A brief review of the history of how wages are determined is important. 

The employment guarantee act gives the central government two options for determining the 
MNREGA wage rate. The first is that MNREGA workers are paid the state minimum wage for 
agricultural labourers. The second is that the central government notifies separate wage rates for 
MNREGA. Till 2008, MNREGA wages were fixed as per the first option. From 1 January 2009, the 
central government switched to the second option. 

Now, wage rates for workers under the Mahatma Gandhi National Rural Employment Guarantee 
Act (MGNREGA), 2005 are notified and revised annually based on Consumer Price Index-
Agricultural Labourers (CPI-AL) by the Central Government in accordance with the provisions of 
Section 6(1) of the Mahatma Gandhi NREGA. 

 

Q109. Consider the following countries. 

1. Eritrea 
2. Yemen 
3. Djibouti 
4. Somalia 

Which of the above countries share/s boundary with Red Sea? 

a. 2 only 
b. 3 and 4 only 
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c. 1, 2 and 3 only 
d. 1 and 2 only 

Solution: c 

Explanation: 

There are six countries (Saudi Arabia, Yemen, Egypt, Sudan, Eritrea, and Djibouti) bordering the Red 
Sea. 

 

Q110. Consider the following bodies. 

1. Co-operative societies 
2. Election Commissioners 
3. Solicitor General 

Which of the above is/are Constitutional bodies? 

a. 1 only 
b. 2 only 
c. 3 only 
d. 1 and 2 only 
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Solution: b 

Explanation: 

Right to form Co-operative societies is Constitutional Right. Co-operative societies are not 
Constitutional bodies. 
Election Commissioner is also Constitutional. 

Solicitor General is not a Constitutional Body. 

Q111. Consider the following statements regarding Convention for the Protection of all Persons 
from Enforced Disappearances. 

1. It is the first universally binding treaty that defines enforced disappearance as a human 
rights violation and prohibits it. 

2. The Convention has not yet entered into force. 
3. India has signed the Convention. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: b 

Explanation: 

News: 

 

As early as 1980 the United Nations Commission on Human Rights constituted a working group to 
address the problems arising from missing and disappeared persons.  
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Twenty-six years later, the Convention for the Protection of all Persons from Enforced 
Disappearances was adopted by the UN General Assembly on 20 December 2006.  

It is the first universally binding treaty that defines enforced disappearance as a human rights 
violation and prohibits it.  

The convention entered into force on 23 December 2010. 

 

 

Q112. Which of the following are categorizes as “Hard-to-abate sectors” (that are difficult to 
decarbonize and require approaches that address energy and process emissions)? 

1. Fertilizers 
2. Cement 
3. Aviation  
4. Agriculture 
5. Textiles. 

Select the correct code. 

a. 1, 2 and 3 only 
b. 2, 3 and 4 only 
c. 3, 4 and 5 only 
d. All the above 

Solution: d 

Explanation: 

All the above are correct. 

News: 
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Q113. Consider the following statements. 

1. Statement-I: Unlike conventional diesel-electric submarines, which require periodic surfac-
ing to recharge their batteries, nuclear-powered submarines can remain submerged for ex-
tended periods. 

2. Statement II: INS Arihant and the INS Arighat are powered by pressurized light-water nuclear 
reactors. 

Which one of the following is correct in respect of the above statements? 

a. Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for 
Statement-I 

b. Both Statement-I and Statement-II ate correct and Statement-II is not the correct explana-
tion for Statement-I 

c. Statement-I is correct but Statement-II is incorrect 
d. Statement-I is incorrect but Statement-II is correct  

 

Solution: A 

Explanation: 

India recently commissioned INS Arighat (S-3), a nuclear-powered ballistic missile submarine, in 
Visakhapatnam. This 6,000-tonne vessel, equipped with K-15 nuclear ballistic missiles boasting a 
range of 750 km, marks a significant step in India’s maritime capabilities. 

INS Arighat is said to be similar to INS Arihant, but has more refined capabilities. It is about 112-
metre long and weighs around 6,000 tonnes. 

The third nuclear-powered INS Aridhaman, which is said to be bigger and more sophisticated and 
can weigh around 7,000 tonnes, is also under construction. 

Both the INS Arihant and the INS Arighat are powered by 83 MW pressurized light-water nuclear 
reactors, enabling them to remain submerged for longer durations compared to conventional 
diesel-electric submarines, which need to surface regularly to charge their batteries. 

Q114. Consider the following statements. 

1. As per the Act, if any water dispute arises with other state, state will pass resolution to es-
tablish tribunal to solve the dispute. 

2. Once the request to form tribunal is received by central government form the state, the cen-
tral government shall form tribunal within one year of receiving such request. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: b 

Explanation: 
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First statement is incorrect. 

The Interstate River Water Disputes Act, 1956 (IRWD Act) is an Act of the Parliament of India 
enacted under Article 262 of Constitution of India. 

 

As per the Act, 

 

 

Q115. Consider the following Nations. 

1. Turkmenistan 
2. Syria 
3. Armenia 
4. Azerbaijan 

Which of the above nations share boundaries with Iran? 

a. 2 and 3 only 
b. 1, 3 and 4 only 
c. 1, 2 and 4 only 
d. 4 only 

Solution: b 

Explanation: 
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There are seven countries that Iran shares this long land border with. These countries are Iraq, 
Turkmenistan, Afghanistan, Pakistan, Turkey, Armenia, and Azerbaijan. Of these countries, 
Turkmenistan shares the longest border with Iran. 

 

Q116. Which principle among the following was added to the Directive Principles of State Policy by 
the 42nd Amendment to the Constitution? 

a. Equal pay for equal work for both men and women 
b. Participation of workers in the management of industries 
c. Right to work, education and public assistance 
d. Securing living wage and human conditions of work to workers 

Solution: B 

Examination: 

2017 UPSC PRELIMS QUESTION. 

The 42nd Amendment added new Directive Principles, viz Article 39A, Article 43A and Article 48A. 

Article 43A deals with ‘Participation of workers in management of industries’. 
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Q117. Consider the following statements. 

1. Speaker, who is not a member of House, can preside the house of 6 months after which she 
ceases to be Speaker of House. 

2. A minister who is not a member of House, for 6 months, he can participate and vote in Par-
liament.  

3. A Minister who for any period of six consecutive months is not a member of the Legislature 
of the State shall at the expiration of that period cease to be a Minister. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 3 only 

Solution: d 

Explanation: 

First Statement is incorrect. It is mandatory to be member of House. 
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Second statement is incorrect: He cannot vote. 

 

Two conditions exist for any minister. 

 

1. He is a serving MP of any house, Lok Sabha or Rajya Sabha. 

 

2. He is not a member of house although he has been appointed as a minister. 

 

In both cases, the minister takes part in the proceedings of both houses. It's his right as a member 
of the council of ministers. 

 

Now coming to the voting part. In above two cases, 

In first case, the minister is allowed to vote in the house whose membership he holds. If he's a 
member of Lok Sabha, he cannot vote in Rajya Sabha but in Lok Sabha only. That's his right as a 
member of the respective house. His ministership doesn't bar him from voting. 

 

In second case, as he is not a member of any house. He cannot vote in either of the houses. The 
minister has been given a time period of 6 months to become member of any one house. After he 
attains membership, he will be treated as in first case mentioned above. 

 

Third statement is correct: long statement but simple. It takes time to read. So you need to 
increase speed but don’t lose focus. 
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Q118. Consider the following statements: 

1. A high foreign exchange rate may decrease the export of a country. 
2. A Trade surplus in an economy may help to appreciate its currency. 

Which of the statements given above are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: b 

Explanation: 

Simple concepts.  

Statement 1 is incorrect. 

A rise in price of foreign exchange will reduce the foreigner’s cost (in terms of USD) while purchasing 
products from a country. This increases the export of country.  

Suppose exchange rate is 1 dollar = 60 Rs and now it increased to 1 dollar= 70 Rs. For foreigners, 
Indian goods will become cheaper and export of Indian goods will increase.  

Statement 2 is correct. 

A Trade surplus means that the export of a country is greater than its imports. The export of a 
country helps in bringing foreign currency. So surplus trade will bring more foreign currency. As a 
result of which the domestic currency will appreciate. 

Q119. Which of the following officer has the power to disqualify a Member of the Legislature for 
occupying an ‘Office of Profit’? 

a. The Chief Election Commissioner 
b. The President 
c. The Speaker of the Lok Sabha 
d. The Leader of the House concerned whose Member is to be disqualified 

Solution: b 

Explanation: 
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Article 102(1)(a) of the Constitution of India recognizes “holding any Office of Profit under the 
government” a ground for disqualification from being a Member of Parliament (MP) as well as 
contesting parliamentary elections to be chosen as an MP.  

 

 

Q120. In the context of the location of industries, the supply of raw material is the most important 
factor for which of the following industries? 

a. Automobile Industry 
b. Electronic Goods Industry 
c. Sugar Industry 
d. Cotton Textile Industry 

Solution: c 

Explanation: 

Industries using weight-losing raw materials are located in the regions, where raw materials are 
located. Thus, sugar mills in India are located in sugarcane growing areas. Sugarcane needs to be 
supplied to mills within 24 hours of cutting to ensure better recovery of sugar. Hence, the location of 
Sugar mills is near the sugarcane producing areas. Similarly, the pulp industry, copper smelting and 
pig iron industries are located near their raw materials. Options (a) and (b) are examples of weight 
gaining industry, and they require more diverse ancillary material. Hence, these are generally 
located near the market. Cotton textile is not a weight losing industry. The raw material is not the 
most dominant factor, but a humid climate, cheap labour and transport and most importantly, a 
market for trade determine the location of the cotton textile industry. Therefore, the correct 
answer is (c). 

Q121. Consider the following statements regarding Pradhan Mantri Jan Dhan Yojana (PMJDY). 

1. PMJDY account holders were given RuPay debit cards. 
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2. There was no requirement to maintain any minimum balance in PMJDY accounts. 
3. No interest is earned on the deposits in the PMJDY accounts. 
4. More than 50 percent of the account holders are women. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: c 

Explanation: 

Third statement is incorrect. 

The PMJDY was announced by Prime Minister Shri Narendra Modi in his Independence Day address 
on 15th August 2014. 

 

Notably, the number of beneficiaries of the Prime Minister Jan Dhan Yojana (PMJDY) has crossed the 
53-crore mark since its inception on August 28, 2014, out of which 55.6 per cent account holders 
are women. 

 

Q122. Consider the following statements. 

1. World Water Week has been organized every year by UN Water Forum. 
2. World Water Week conference has representatives of all types of economies, low-income 

countries and from high income countries. 
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3. India has participated in World Water Week in the past, and has also hosted its own interna-
tional water resources event called India Water Week (IWW). 

How many of the above statements is/are correct? 

a. 1 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: b 

Explanation: 

First is incorrect. 

News: 

 

All statements are correct. 

World Water Week 2024, on 25 – 29 August, will focus on innovation at a time of unprecedented 
changes. Human activities have triggered a global water crisis where we have for the first time 
crossed the safe planetary boundary for water. 

World Water Week is organized by Stockholm International Water Institute (SIWI) since 1991. 

India has participated in World Water Week in the past, and has also hosted its own international 
water resources event called India Water Week (IWW). 

India has also hosted the IWW, an international water resources event, since 2012.  

The 2024 IWW will focus on "Partnerships and Cooperation for Inclusive Water Development and 
Management". The 2024 IWW will take place in New Delhi from September 17–21, 2024. 

Q123. Consider the following statements. 

1. The United Nations declared 2024 the International Year of Camelids (IYC 2024). 
2. Camel population is seeing a huge decline in India of more than 30 percent in last two dec-

ades. 
3. Presently, law in India prohibits the export of camels across state borders and out of the 

country. 

How many of the above statements is/are correct? 
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a. 1 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: d 

Explanation: 

All statements are correct. 

The United Nations declared 2024 the International Year of Camelids (IYC 2024). 

Everywhere else in the world, be it Pakistan, the Middle East and Africa, camel populations are 
thriving and flourishing except India. 

As per the Down to Earth magazine: 
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According to her, several reasons can be cited for the decline. The law in India now prohibits the 
export of camels across state borders and out of the country. This has totally diminished the value 
of camels. 

The law in India now prohibits the export of camels across state borders and out of the country. 
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Q124. Which of the following activities/projects are part of central sector scheme of Financing 
facility under ‘Agriculture Infrastructure Fund’? 

1. Modernization of Cold Stores and Cold Chain 
2. Farm residue/waste management infrastructures 
3. Setting up of Compressed Biogas (CBG) Plant 

Select the correct code. 

a. 1 and 2 only 
b. 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: d 

Explanation: 

Read this: 

 

The scheme will facilitate setting up and modernization of: 
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Q125. Consider the following statements. 

1. The majority of reef building corals are found within tropical and subtropical waters. 
2. Algal bloom on coral ridges is a sign of good coral health. 
3. Corals can reproduce asexually and sexually. 
4. Pacific Ocean has a greater number of coral species than Antarctic Ocean. 

Which of the above statements is/are correct? 

a. 1 and 2 only 
b. 2, 3 and 4 only 
c. 1, 3 and 4 only 
d. 1, 2, 3 and 4 

Solution: c 

Explanation: 

First statement is correct. 

Reef-building corals are restricted in their geographic distribution by factors such as the temperature 
and the salinity (salt content) of the water. The water must also be clear to permit high light 
penetration. 

Because of these environmental restrictions, reefs generally are confined to tropical and 
semitropical waters. The diversity of reef corals (the number of species), decreases in higher 
latitudes up to about 30° north and south, beyond which reef corals are usually not found.

 

Second statement is incorrect. 

The analysis found that since 2010, the number of algae on the world's coral reefs has increased by 
about 20 per cent. Algal bloom on coral ridges are a sign of stress on the structures. This transition 
from live hard coral to algae-dominated reef communities impacts marine habitats, rendering them 
less biodiverse and also affects the ecosystem services provided by them. 

Third statement is correct. 
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Corals can reproduce asexually and sexually. In asexual reproduction, new clonal polyps bud off 
from parent polyps to expand or begin new colonies. This occurs when the parent polyp reaches a 
certain size and divides. This process continues throughout the animal’s life. 

Fourth statement is correct: 

Generally, there are about twice as many coral species in Pacific Ocean reefs as in Atlantic Ocean 
reefs. 

Q126. If a straight horizontal line drawn through Caspian Sea, which of the following seas/regions it 
will never cut? 

1. Mediterranean Sea 
2. Red Sea 
3. Black Sea 
4. Yellow Sea 

Select the correct code. 

a. 1 and 2 only 
b. 2 and 4 only 
c. 3 and 4 only 
d. 2 only 

Solution: d 

Explanation: 

 

Q127. Consider the following statements. 

1. The G20 is an international group initially founded in 1999 after the Asian financial crisis. 
2. G-7 was formed after G-20. 
3. All members of G-7 are part of G-20. 

Which of the above statements is/are correct? 

a. 1 and 2 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: c 

Explanation: 
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Which of the above statement sis/are correct? 

The G20 is an international group initially founded in 1999 after the Asian financial crisis as a 
forum for the finance ministers and central bank governors of 19 countries and the European Union. 

G-7 was formed in 1975. Second statement is correct. 

G-7 members: United States, the United Kingdom, Germany, Canada, Japan, France and Italy. 

G:20 members: Argentina, Australia, Brazil, Canada, China, France, Germany, India, Indonesia, Italy, 
Japan, Republic of Korea, Mexico, Russia, Saudi Arabia, South Africa, Turkey, the United Kingdom, 
the United States, and the European Union. 

Q128. Consider the following statements. 

1. A Living Modified Organism (LMO) is defined in the Nagoya Protocol on Biosafety. 
2. India doesn’t have any rules or statute to regulate LMO.’ 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: d 

Explanation: 

A Living Modified Organism (LMO) is defined in the Cartagena Protocol on Biosafety as any living 
organism that possesses a novel combination of genetic material obtained through the use of 
modern biotechnology. First statement is incorrect. 

Second statement is also incorrect. 
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Q129. The term “Unity and Integrity” of India can be seen in which part of Indian Constitution? 

a. Directive Principles of State Policy (DPSP), Preamble and Fundamental Duties 
b. Preamble 
c. Preamble and Fundamental Duties 
d. Fundamental Rights, DPSP and Preamble 

Solution: c 

Explanation: 

 

Also, under Fundamental Duties. 

 

Q130. If interest rate in market decreases: 

1. price of bond increases 
2. return (yield) on that bond increases. 

Select the correct code. 
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a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: a 

Explanation: 

Suppose Rs. 100 bond (this is called issue price or Face Value) is issued @ interest rate 10% (which 
means that interest in the market is around 10%). Now if interest rate in the market decreases (the 
interest rate is decreasing in the market but the bond which has been issued @10% interest rate. 
This interest rate is fixed and it will never change) then the new bonds which will be issued will be 
issued at less interest rate (say 8%).  

Now if you want to purchase previously issued bond of Rs. 100 face value, the holder of the bond 
will not give you in Rs. 100, rather he will ask for more rupees, i.e., the price of the previously issued 
bond will increase and suppose you purchase this bond in Rs. 125 then for your annual RETURN will 
be = (Rs. 10/Rs. 125)*100 = 8%. This 8% is yield. 

So, to conclude, if interest rate in market decreases, price of bond increases and return (yield) on 
that bond decreases. 

Q131. Consider the following statements regarding United Nations (UN)-Water. 

1. UN-Water is the architect of the SDG 6 Global Acceleration Framework. 
2. The United Nations World Water Development Report (WWDR) is UN-Water’s flagship re-

port on water and sanitation issues. 
3. UN-Water coordinates the global thematic campaigns for World Water Day and World Toilet 

Day every year and communicate on key water-related issues. 

How many of the above statements are correct? 

a. Only one 
b. Only two 
c. ALL THREE 
d. None 

Solution: c 

Explanation: 

When I searched UN website, I got this news: 
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All statements are correct. 
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Have you seen something very similar question in 2024?? (World Toilet Organization). 

Q132. Consider the following statements regarding Pacific Island Forum. 

1. It is an organization of Heads of Government of independent and self-governing countries of 
the South Pacific. 

2. India is admitted as a dialogue partner of the forum, not a member. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

News: 

 

The Pacific Islands Forum, an organization of Heads of Government of independent and self-
governing countries of the South Pacific was formed in 1971 as a forum to voice joint political views 
and promote economic development and regional security cooperation. 

It was founded in 1971 as the South Pacific Forum (SPF), and changed its name in 1999 to "Pacific 
Islands Forum. 
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Originally named the South Pacific Forum, the organization was re-christened as Pacific Islands 
Forum in 2000. The Forum comprises of 16 countries, namely, Australia, Cook Islands, Federated 
States of Micronesia, Fiji Islands, Kiribati, Marshall Islands, Nauru, New Zealand, Niue, Palau, Papua 
New Guinea, Samoa, Solomon Islands, Tonga, Tuvalu and Vanuatu. The Forum Secretariat is located 
in Suva, Fiji. 

 

 

The Forum has at present 11 countries as Dialogue Partners: the US, Canada, France, the UK, China, 
South Korea, Japan, EU, Malaysia, Indonesia and the Philippines. India joins the Forum as its 12th 
Dialogue Partner. 

Q133. In reference to India-Malaysia Trade, consider the following statements. 

1. In last 5 years, India maintains trade surplus with Malaysia. 
2. India imports vegetable oils from Malaysia. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
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d. Neither 1 nor 2 

Solution: b 

Explanation: 

India has a trade deficit with Malaysia, with India importing more than it exports. 

 

Major imported items by India from Malaysia: 

Major items imported by India from Malaysia include vegetable oils (US$ 1.64 billion) followed by 
electrical machinery and equipment and parts thereof (US$ 1.07 billion), petroleum products (US$ 
1.01 billion), nuclear reactors, boilers, machinery, and mechanical appliances; parts thereof (US$ 
659 million) and organic chemicals (US$ 341 million) from April-November 2023. 

Major exported items from India to Malaysia 

Major exported items from India to Malaysia include engineering goods (US$ 1.23 billion), 
petroleum products (US$ 1.03 billion), organic and inorganic chemicals (US$ 371 million), meat, 
dairy and poultry products (US$ 336 million) and others (US$ 246 million), etc. during April-
November 2023. 

Q134. Consider the following statements respect to species in Schedule IV of the Wild Life 
(Protection) Act 1972. 

1. Wildlife Protection Act (WPA) of 1972 includes exotic animals in Schedule IV. 
2. As per these rules, every person who is in possession of above species is required to report 

the details of such animals to the Chief Wild Life Warden of the concerned State, within a 
period of six months from the issue of gazette notification. 

Select the correct code. 

a. 1 only 
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b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

News: 

 

Many living specimens of exotic animal species listed in Wild Life (Protection) Act, 1972 are in 
possession of various individuals, organizations, and zoos.  

 

As per these rules, every person who is in possession of any living specimen of species listed in 
Schedule IV of the Wild Life (Protection) Act 1972, is required to report the details of such animals 
to the Chief Wild Life Warden of the concerned State, within a period of six months from the issue 
of gazette notification and or within thirty days of possession of such animal species. 

Q135. Consider the following statements regarding Central Water Commission. 

1. Central Water Commission was established in 1945 by the Government on the advice of Dr. 
B.R. Ambedkar. 

2. It responsible for strengthening international cooperation on matters relating to trans-
boundary rivers. 

3. It is headed by Union Minister. 
Which of the above statements is/are correct? 

a. 1 and 2 only 
b. 2 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: a 

Explanation: 

Central Water Commission (erstwhile Central Waterways, Irrigation and Navigation Commission) 
was established in 1945 by the Government on the advice of Dr. B.R. Ambedkar, Member (Labour) 
in Viceroy's Executive Council . Since then, CWC has evolved as a premier technical organization in 
the country in the field of Water Resources and is functioning as an attached office of the 
Department of Water Resources, River Development & Ganga Rejuvenation, Ministry of Jal Shakti. 
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The CWC is responsible for strengthening international cooperation on matters relating to trans-
boundary rivers by way of assistance in water resource development projects, hydrological 
observation and flood forecasting and operation of bilateral treaties and agreements. 

Q136. Gaza Strip shares boundary with: 

1. Egypt 
2. Israel 
3. West Bank 
4. Syria 

Select the correct code. 

a. 2 only 
b. 1 and 3 only 
c. 1 and 2 only 
d. 3 and 4 only 

Solution: c 

Explanation: 
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Q137. Who among the following has the power to request a retired Supreme Court Judge to act as a 
Judge of the Supreme Court for a temporary period? 

a. President of India with the previous consent of the Chief Justice of India. 
b. Chief Justice of India with the previous consent of the President. 
c. It is the power of the collegium to suggest a name to the President. 
d.  There is no such provision in the Constitution of India 

Solution: b 

Explanation: 

As per provisions of the Article 128, Chief Justice of India, with the previous consent of the 
President, request a retired Judge of the Supreme Court High Court, who is duly qualified for 
appointment as a Judge of the Supreme Court, to sit and act as a Judge of the Supreme Court.  
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Q138. With reference to the Private member’s bill, consider the following statements: 

1. It can only be introduced in the House by members other than members of ruling govern-
ment. 

2. Private Member Bills can be a Constitutional Amendment Bill. 
3. No Private Member Bill has been passed till date by Parliament. 

Which of the above stamen is/are correct? 

a. 1 only 
b. 2 only 
c. 1 and 3 only 
d. None of these 

Solution: b 

Explanation: 

A Member of Parliament (MP) who is not a Minister in the Union Cabinet is called a Private Member. 
Bills introduced by such members are called Private Member's Bills. So, private member bill can be 
from rulling party also. First statement is incorrect. 

The scope of a Private Member Bill (PMB) is same as that of a Government Bill. These bills can deal 
with any issue and can also be a Constitutional Amendment Bill. Second statement is correct. 

A PMB can be introduced in either the Lok Sabha or Rajya Sabha.  

14 private member bills out of thousands became laws since 1952. Therefore, statement 3 is 
wrong. See below: 
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Q139. With respect to e Montreux Record, consider the following statements. 

1. It aims to identify priority sites for positive national and international conservation attention. 
2. Sites may be added to and removed from the Record only with the approval of the Contracting 

Parties on whose territory they lie. 
3. It is maintained as part of the Ramsar List. 
4. Loktak Lake is only site under Montreux Record after Chilka Lake was removed from Record. 

Select the correct code. 

a. 1 and 2 only 
b. 2, 3 and 4 only 
c. 1, 2 and 3 only 
d. 1 only 

Solution: c 

Explanation: 

First and third statements are correct: 
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Second statement is correct: 

 

Fourth statement is in correct: 

At present, there are two Indian sites Loktak Lake, Manipur and Keoladeo National Park, Rajasthan 
on the Montreux Record 
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Q140. Which of the following measures can help in tackling rupee appreciation? 

1. Purchase of Government securities from the public by the Central Bank. 
2. Lowering interest rates in commercial banks. 
3. Buying of foreign currency by the Central Bank. 
4. Sale of government securities to the public by the Central Bank. 

Select the correct answer using the code given below: 

a. 1 and 3 only 
b. 1, 2 and 3 only 
c. 2 and 3 only 
d. 2, 3 and 4 only 

Solution: b 

Explanation: 

Currency appreciation is an increase in the value of one currency in relation to another currency. A 
strong currency makes imports cheaper and can improve living standards. However, it can also make 
exports less competitive and lead to lower economic growth. So, to stabilise the currency, various 
measures are adopted to increase the quantum of domestic currency and reduce the volume of 
foreign currency.  

Statements (1), (2) and (3) lead to an infusion of domestic currency among the public and reduces 
the foreign currency in the market; thus, it helps in tackling rupee appreciation (a feature of 
managed floating currency). However, the sale of Government securities to the public reduces the 
amount of currency held by the public. So, it cannot tackle rupee appreciation. So, statement (4) is 
incorrect. Hence, option b is the correct answer. 

 

 


